
CHEMISTRY

BOOKS - S DINESH & CO CHEMISTRY (HINGLISH)

SOME BASIC CONCEPTS OF CHEMISTRY

M C Q

1. The number of significant figures in  are

A. One

B. Three

C. Two

D. Four

0.0500

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_peojsxa8ImEd


Answer: B

Watch Video Solution

2. The correctly reported answer of the addition of

 and  will have significant figures

A. Three

B. Four

C. Two

D. Five

Answer: A

Watch Video Solution

29 ⋅ 4406, 3 ⋅ 2 2 ⋅ 25

https://dl.doubtnut.com/l/_peojsxa8ImEd
https://dl.doubtnut.com/l/_ydbr4O8Oy31f


3. The correctly reported answer of the addition of

 and 24 will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

294 ⋅ 406, 280 ⋅ 208

598 ⋅ 61

599 ⋅

598 ⋅ 6

598 ⋅ 614

4. On dividing 0*25 by 22*1176, the actual answer is 0*011303. The

correctly reported answer will be

A. 0 ⋅ 011

https://dl.doubtnut.com/l/_ZlS5Om4GpLoH
https://dl.doubtnut.com/l/_XUM1LD0zROen


B. 

C. 

D. 

Answer: A

Watch Video Solution

0 ⋅ 01

0 ⋅ 0113

0 ⋅ 013

5. Two student X and Y report the mass of the same substance as

 and  respectively. Which of the following statement is

correct?

A. Both are equally accurate

B. X is more accurate than Y

C. Y is more accurate than X

D. Both are inaccurate scientifically

7.0g 7.00g

https://dl.doubtnut.com/l/_XUM1LD0zROen
https://dl.doubtnut.com/l/_ORZ7CyCBCMRM


Answer: C

Watch Video Solution

6. The number of significant figures in  are

A. One

B. Two

C. Three

D. Infinite

Answer: D

Watch Video Solution

π

https://dl.doubtnut.com/l/_ORZ7CyCBCMRM
https://dl.doubtnut.com/l/_gPDlHQrl0Pyj


7. Given the number  and . The number of

significant figures for the three numbers is

A. 3, 4 and 5 respectively

B. 3, 3 and 3 respectively

C. 3, 3 and 4 respectively

D. 3, 4 and 4 respectively

Answer: B

Watch Video Solution

786 ⋅ , 0 ⋅ 786 0 ⋅ 0786

8. One torr is equal to

A. 1 atm. Pressure

B. 1 mm of Hg

https://dl.doubtnut.com/l/_M0iEUfARrkeh
https://dl.doubtnut.com/l/_kSKsEVB2NyL6


C. 1 cm of Hg

D. 1 m of Hg

Answer: B

Watch Video Solution

9. Area of nuclear cross-section is measured in 'Barn'. It is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10− 20m2

10− 30m2

10− 28m2

10− 14m2

https://dl.doubtnut.com/l/_kSKsEVB2NyL6
https://dl.doubtnut.com/l/_w2y0fJjWtdGK


10. Fermi is a unit of length for measuring the nuclear diameter.

It is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10− 10m

10− 13m

10− 15m

10− 12m

11. In which of the following numbers all zeros are significant ?

A. 0.0005

https://dl.doubtnut.com/l/_w2y0fJjWtdGK
https://dl.doubtnut.com/l/_y1MP5NLmO6ql
https://dl.doubtnut.com/l/_hBqoL4WurnoM


B. 

C. 

D. 

Answer: C

Watch Video Solution

0.0500

50.000

0.00050

12. Which of the following is correct?

A. 

B. 

C. 

D. 

Answer: B

1L = 1m3

1L = 1dm3

10L = 1dm3

1L = 10dm3

https://dl.doubtnut.com/l/_hBqoL4WurnoM
https://dl.doubtnut.com/l/_iVwzQHAoWNKc


Watch Video Solution

13. Light travels with a speed of . The distance

travelled by light in 1 femto second is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3 × 108ms− 1

0 ⋅ 03mm

0 ⋅ 003mm

3mm

0 ⋅ 0003mm

14. A mixture of naphthalene and benzoic acid can be separated

by:

https://dl.doubtnut.com/l/_iVwzQHAoWNKc
https://dl.doubtnut.com/l/_MXlIesePx8hx
https://dl.doubtnut.com/l/_NpZxtUQlpwZM


A. Extraction with cold water

B. Sublimation

C. Extraction by hot water

D. 

Answer: C

Watch Video Solution

15. A mixture of  and  can be separated by

A. Fractional crystallisation

B. Extraction with water

C. Sublimation

D. Chromatography

NH4Cl I2

https://dl.doubtnut.com/l/_NpZxtUQlpwZM
https://dl.doubtnut.com/l/_56iwHELTajiC


Answer: B

Watch Video Solution

16. A mixture that can be separated by sublimation is

A. 

B. 

C. 

D. .

Answer: C

Watch Video Solution

AgCl + NaCl

BaCl2 + NaCl

HgCl2 + NaCl

MgCl2 + NaCl

https://dl.doubtnut.com/l/_56iwHELTajiC
https://dl.doubtnut.com/l/_eyzPqIUCa2ou


17. 6 g of carbon combines with 32 g of sulphur to form . 12 g

of C also combine with 32 g of oxygen to form carbon dioxide. 10

g of sulphur combines with 10 g of oxygen to form sulphur

dioxide. Which law is illustrated by them?

A. Law of multiple proportions

B. Law of constant composition

C. Law of reciprocal proportions

D. Gay Lussac's law.

Answer: C

Watch Video Solution

CS2

18. Which of the following data illustrates the law of conservation

of mass?

https://dl.doubtnut.com/l/_koPMzx1BeXu5
https://dl.doubtnut.com/l/_uSRDOTLtyAh9


A. 56 g of CO reacts with 32 g oxygen to produce 44 g of 

B. 1.70 g of  reacts with 100 mL of 0.1 MHCl to produce

1.435 g of AgCl and 0.63 g of .

C. 12 g of C is heated in vaccume and on cooling there is no

change on mass.

D. None of the above.

Answer: B

Watch Video Solution

CO2

AgNO3

HNO3

19. If law of conservation of mass was to hold true, then  of

 on reaction with  of  will produce  of HCl

and  equal to

A. 

20 ⋅ 8g

BaCl2 9 ⋅ 8g H2SO4 7 ⋅ 3

BaSO4

11 ⋅ 65g

https://dl.doubtnut.com/l/_uSRDOTLtyAh9
https://dl.doubtnut.com/l/_ABdw0Eqr3mD5


B. 

C. 

D. 

Answer: B

Watch Video Solution

23 ⋅ 3g

25 ⋅ 5g

30 ⋅ 6g

20. 1.5 g of hydrocarbon on combustion in excess of oxygen

produces 4.4 g of  and 2.7 g of , the data illustrates

A. Law of conservation of mass

B. Law of multiple proportions

C. Law of constant composition

D. Law of reciprocal proportions.

CO2 H2O

https://dl.doubtnut.com/l/_ABdw0Eqr3mD5
https://dl.doubtnut.com/l/_kPYa23H2b1M2


Answer: A

Watch Video Solution

21. The law of multiple proportion is illustrated by

A. carbon monoxide and carbon dioxide

B. potassium bromide and potassium chloride

C. water and heavy water

D. calcium hydroxide and barium hydroxide

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_kPYa23H2b1M2
https://dl.doubtnut.com/l/_LJBl2CEhMIf4


22. Hydrogen and oxygen combine to form  and 

containing  and  hydrogen respectively. The data

illustrates

A. Law of conservation of mass

B. Law of constant proportion

C. Law of reciprocal proportions

D. Law of multiple proportions

Answer: D

Watch Video Solution

H2O2 H2O

5.93 % 11.2 %

23. Two elements X (atomic mass 16) and Y(atomic mass 14)

combine to form compounds A,B and C. The ratio of different

masses of Y which combine with a fixed mass of X in A,B and C is

https://dl.doubtnut.com/l/_PPYYQof0I9Iy
https://dl.doubtnut.com/l/_ezMicVCsm2oz


1:3:5. If 32 parts by mass of X combines with 84 parts by mass of Y

in B, then in C, 16 parts by mass of X will combine with :

A. 14 parts by mass of Y

B. 42 parts by mass of Y

C. 70 parts by mass of Y

D. 84 parts by mass Y

Answer: C

Watch Video Solution

24.  of an oxide of nitrogen gives  of nitrogen and 60

g of another oxide of nitrogen gives  of nitrogen at STP.

The data illustrates

A. Law of conservation of mass

4 ⋅ 4g 2 ⋅ 24L

22 ⋅ 4L

https://dl.doubtnut.com/l/_ezMicVCsm2oz
https://dl.doubtnut.com/l/_8bR0de8J5a3T


B. Law of constant proportion

C. Law of multiple proportions

D. Law of reciprocal proportions.

Answer: C

Watch Video Solution

25. Which one of the following pair of substances illustrates law

of multiple proportions?

A. 

B. 

C. 

D. 

CO, CO2

NaCl, NaBr

H2O, D2O

MgO, Mg(OH)2

https://dl.doubtnut.com/l/_8bR0de8J5a3T
https://dl.doubtnut.com/l/_65sL8hQsxQp0


Answer: A

Watch Video Solution

26. One of the following combinations which illustrates the law of

reciprocal proportions?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2O3, N2O4, N2O5

NaCl, NaBr, NaI

CS2, CO2, SO2

PH3, P2O3, P2O5

https://dl.doubtnut.com/l/_65sL8hQsxQp0
https://dl.doubtnut.com/l/_o2vnmClc19R5


27. Two elements X and Y combine in gaseous state to form XY in

the ratio  by mass. The mass of Y that will be required to

reat with 2 g of X is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1: 35 ⋅ 5

7 ⋅ 1g

3 ⋅ 55g

71g

35 ⋅ 5g

28. Two compounds A and B have some percentage composition.

The compouds A and B

https://dl.doubtnut.com/l/_cjsNdL8LAVqS
https://dl.doubtnut.com/l/_B2QJi8saeH0C


A. are identical

B. are isomers

C. are neither identical nor isomers

D. All the three are correct

Answer: D

View Text Solution

29. 1 g-atom of nitrogen represents

A.  molecules

B.  of  at S.T.P.

C.  of  at S.T.P.

D. 28 g of nitrogen

6.02 × 1023N2

22 ⋅ 4L N2

11 ⋅ 2L N2

https://dl.doubtnut.com/l/_B2QJi8saeH0C
https://dl.doubtnut.com/l/_FqH1InqoH7Bg


Answer: C

Watch Video Solution

30.  L of a gas at S.T.P. weights equal to 8 g. The vapour

density of gas is

A. 32

B. 16

C. 8

D. 40

Answer: B

Watch Video Solution

5 ⋅ 6

https://dl.doubtnut.com/l/_FqH1InqoH7Bg
https://dl.doubtnut.com/l/_I3lIvipuMJm3


31. The maximum volume at STP is occupied by

A.  g of 

B.  molecules of 

C.  mol of 

D. 1 g-molecule of 

Answer: D

Watch Video Solution

12 ⋅ 8 SO2

6 ⋅ 02 × 1023 CH4

0 ⋅ 5 NO2

CO2

32. A sample of  contains  of  ions. The

mass of the sample is ( Atomic Mass )

A.  g

B.  g

Na2CO3 6.02 × 1023 Na+

Na = 23, C = 12, O = 16

53

106

https://dl.doubtnut.com/l/_Z6e04Ud1V5m0
https://dl.doubtnut.com/l/_KqxswWCinPHE


C.  g

D.  g

Answer: A

Watch Video Solution

165

212

33. What is correct for 10 g of ?

A. It contains 1 g atom of carbon

B. It contains  g atoms of oxygen

C. It contains 12 g of calcium

D. It refers to  g-equivalent of 

Answer: B

Watch Video Solution

CaCO3

0 ⋅ 3

0 ⋅ 1 CaCO3

https://dl.doubtnut.com/l/_KqxswWCinPHE
https://dl.doubtnut.com/l/_YoqtVViurFrE


34. Which of the following is not correct regarding 14 gram of

carbon monoxide?

A. It corresponds to  mole of CO

B. It occupies  litres at S.T.P.

C. It corresponds to  molecules of CO

D. It corresponds to same number of moles of  and

nitrogen (I) oxide gases

Answer: B

Watch Video Solution

0 ⋅ 5

2 ⋅ 24

3 ⋅ 01 × 1023

CO2

35.  litre of methane at S.T.P. corresponds to4.48

https://dl.doubtnut.com/l/_YoqtVViurFrE
https://dl.doubtnut.com/l/_jMl6XSD424RU
https://dl.doubtnut.com/l/_6fliDVLppBX4


A.  molecules of methane

B.  mole of methane

C.  g of methane

D.  mole of methane

Answer: C

Watch Video Solution

1 ⋅ 2 × 1022

0 ⋅ 5

3 ⋅ 2

0 ⋅ 1

36. If the density of water is 1 g  then the volume occupied

by one molecule of water is approximately

A. 

B. 

C. 

D. 

cm− 3

18cm3

22400cm3

6 ⋅ 02 × 10− 23cm3

3 ⋅ 0 × 10− 23cm3

https://dl.doubtnut.com/l/_6fliDVLppBX4
https://dl.doubtnut.com/l/_yAElIKMyRX03


Answer: C

Watch Video Solution

37. Which of the following has the highest mass?

A. 20 g of sulphur

B. 4 mol of carbon dioxide

C.  atoms of hydrogen

D.  L of helium at N.T.P.

Answer: B

Watch Video Solution

12 × 1024

11 ⋅ 2

https://dl.doubtnut.com/l/_yAElIKMyRX03
https://dl.doubtnut.com/l/_SV3zkA53fh0g


38. If  is Avogadro's number, then the number of oxygen atom

in one g-equivalent of oxygen is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NA

NA

NA /2

NA /4

2NA

39. Which of the following represents 1 g-molecule of the

substance?

A.  molecules of 6 ⋅ 02 × 1024 NH3

https://dl.doubtnut.com/l/_wpJLESOiYHTN
https://dl.doubtnut.com/l/_Vv35oW9zqLYV


B. 4 g of helium

C. 40 g of CaO

D. 127 g of iodine.

Answer: B

Watch Video Solution

40. One atom of an element weighs  g its atomic

mass is

A. 

B. 

C. 

D. 

1 ⋅ 8 × 10− 22

29 ⋅ 9

18

108 ⋅ 36

154

https://dl.doubtnut.com/l/_Vv35oW9zqLYV
https://dl.doubtnut.com/l/_ak9YpyrckVbH


Answer: C

Watch Video Solution

41. The number of sodium atoms in 2 moles of sodium

ferrocyanide is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

6 ⋅ 02 × 1023

8 × 6 ⋅ 02 × 1023

4 × 6 ⋅ 02 × 1023

https://dl.doubtnut.com/l/_ak9YpyrckVbH
https://dl.doubtnut.com/l/_gQiIPyOQqrlw


42. Four containers of 2L capacity contains dinitrogen as

described below. Which one contains maximum number of

molecules?

A.  g-molecule of 

B. 4 g-atom of nitrogen

C.  N atoms

D. 82 g of dinitrogen

Answer: D

View Text Solution

2 ⋅ 5 N2

3 ⋅ 01 × 1024

43. The number of oxygen atoms present in  of magnesium

bicarbonate is

14 ⋅ 6g

https://dl.doubtnut.com/l/_Tn3PNwrnQDPv
https://dl.doubtnut.com/l/_5o3vVToEfNxi


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

6N0

0 ⋅ 6N0

N0

N0 /2

44. If isotopic distribution of C-12 and C-14 is 98% and 2%

respectively, then the number of C-14 atoms in 12 g of carbon is

A. 

B. 

C. 

D. 

1 ⋅ 032 × 1022

3 ⋅ 01 × 1022

5 ⋅ 88 × 1023

6 ⋅ 02 × 1023

https://dl.doubtnut.com/l/_5o3vVToEfNxi
https://dl.doubtnut.com/l/_n4KMkRJHsDJW


Answer: A

View Text Solution

45. Out of  g dioxygen,  g (atomic) oxygen and  g

ozone, the maximum number of oxygen atoms are contained in

A.  g of atomic oxygen

B.  g of ozone

C.  g of oxygen gas

D. All the contain same number of atoms.

Answer: D

View Text Solution

1 ⋅ 0 1 ⋅ 0 1 ⋅ 0

1 ⋅ 0

1 ⋅ 0

1 ⋅ 0

https://dl.doubtnut.com/l/_n4KMkRJHsDJW
https://dl.doubtnut.com/l/_gj6qYCEY20IH


46.  g of caustic soda (Mol. Mass 40) contains same number

of sodium ions as are present in

A.  g of  (Mol. mass 106)

B.  g of  (Formula mass )

C. 100 mL of  (Formula mass = 142)

D. 1 g-equivalent of  (Mol. mass 85)

Answer: C

Watch Video Solution

4 ⋅ 0

10 ⋅ 6 Na2CO3

58 ⋅ 5 NaCl 58 ⋅ 5

0 ⋅ 5MNa2SO4

NaNO3

47. If  ionises as 


. Then total number of ions

produced by  of  will be

H2SO4

H2SO4 + 2H2O → 2H3O
+ + SO

− 2
4

0 ⋅ 1M H2SO4

https://dl.doubtnut.com/l/_ifLrWeBGcray
https://dl.doubtnut.com/l/_QSWlljUpywtC


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

9 ⋅ 03 × 1021

3 ⋅ 01 × 1022

6 ⋅ 02 × 1022

1 ⋅ 8 × 1023

48. Total number of atoms in 44 g  is

A. 

B. 

C. 

D. .

CO2

6 ⋅ 02 × 1023

6 ⋅ 02 × 1024

1 ⋅ 806 × 1022

18 ⋅ 06 × 1022

https://dl.doubtnut.com/l/_QSWlljUpywtC
https://dl.doubtnut.com/l/_K55MIyFpp7Mm


Answer: C

View Text Solution

49. The flask A and B of equal size contain 2 g of  and 2 g of 

respectively at the same temperature. The number of molecules

in flask A is

A. same as those in flask B

B. less than those in flask B

C. greater then those in flask B

D. exactly half than those in flask B

Answer: C

View Text Solution

H2 N2

https://dl.doubtnut.com/l/_K55MIyFpp7Mm
https://dl.doubtnut.com/l/_XjP0PQSrQ3gB
https://dl.doubtnut.com/l/_CMvz7HQOlyUO


50. A person adds  gram of sugar  in order to

sweeten his tea. The number of carbon atoms added are (mol.

mass of sugar - 342)

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

1 ⋅ 71 (C12H22O11)

3 ⋅ 6 × 1022

7 ⋅ 2 × 1021

0 ⋅ 05

6 ⋅ 6 × 1022

51. Which of the following contains maximum number of atom?

A.  mol of 2 ⋅ 0 S8

https://dl.doubtnut.com/l/_CMvz7HQOlyUO
https://dl.doubtnut.com/l/_CMSqOaK8FZcO


B.  mol of S

C.  mol of 

D.  of  at S.T.P.

Answer: C

Watch Video Solution

6 ⋅ 0

5 ⋅ 5 SO2

44 ⋅ 8L CO2

52. A sample of  contains  of  ions. The

number of formula units of the sample are

A. 

B. 

C. 

D. 

AlF3 3.0 × 1024 F −

9 ⋅ 0 × 1024

3 ⋅ 0 × 1024

0 ⋅ 75 × 1024

1 ⋅ 0 × 1024

https://dl.doubtnut.com/l/_CMSqOaK8FZcO
https://dl.doubtnut.com/l/_4OsY0mrTYKQL


Answer: D

Watch Video Solution

53. The number of atoms present in  mole of  (at. Mass =

31) are

A.  atoms

B. same as in  mol of 

C. 

D. same as in  g of phosphorus

Answer: B

Watch Video Solution

0 ⋅ 1 P4

2 ⋅ 4 × 1024

0 ⋅ 05 S8

6 ⋅ 02 × 1022

3 ⋅ 1

https://dl.doubtnut.com/l/_4OsY0mrTYKQL
https://dl.doubtnut.com/l/_1Ci9onXebWca


54. Out of the following the largest number of atoms are

contained in

A. 11 g of 

B. 4 g of 

C. 5 g of 

D. 8 g of 

Answer: B

Watch Video Solution

CO2

H2

NH3

SO2

55. Which of the following will not have a mass of 10 g?

A.  mol 

B.   ions

0 ⋅ 1 CaCO3

1 ⋅ 51 × 1023 Ca2 +

https://dl.doubtnut.com/l/_c1KdjCO6sbrg
https://dl.doubtnut.com/l/_vXcbLeZx5jl8


C.  mol of  ions

D.  Br atom.

Answer: C

Watch Video Solution

0 ⋅ 16 CO2
3

7 ⋅ 525 × 1022

56. The number of neutrons in  g of water will approximately

be

A. 

B. 

C. 

D. 

Answer: C

W h Vid S l i

1 ⋅ 8

4 ⋅ 216 × 1023

8 ⋅ 432 × 1023

4 ⋅ 816 × 1023

4 ⋅ 216 × 1024

https://dl.doubtnut.com/l/_vXcbLeZx5jl8
https://dl.doubtnut.com/l/_M9C8sqUgRf9a


Watch Video Solution

57. x L of  at STP contains  molecules. The number of

molecules in  L of ozone at STP will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N2 3 × 1022

x/2

3 × 1022

1 ⋅ 5 × 1022

1 ⋅ 5 × 1021

1 ⋅ 5 × 1011

58. The moles of  required for reacting with  g ammonia 


 is

O2 6 ⋅ 8

(...NH3 + .... O2 → .... NO + .... H2O)

https://dl.doubtnut.com/l/_M9C8sqUgRf9a
https://dl.doubtnut.com/l/_QvjqSieaKfXM
https://dl.doubtnut.com/l/_guxjte6S22LY


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5

2 ⋅ 5

1

0 ⋅ 5

59. If  molecules are removed from 98 mg of ,

then the number of moles of  left are

A. 

B. 

C. 

D. 

3 ⋅ 01 × 1020 H2SO4

H2SO4

0 ⋅ 1 × 10− 3

0 ⋅ 5 × 10− 3

1 ⋅ 66 × 10− 3

9 ⋅ 95 × 10− 2

https://dl.doubtnut.com/l/_guxjte6S22LY
https://dl.doubtnut.com/l/_eESMtton75hF


Answer: B

Watch Video Solution

60. x g of Ag was dissolved in  and the solution was

treated with excess NaCl when 2.87 gm. of AgCl was precipitated

precipitated. The value of x is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HNO3

1 ⋅ 08g

2 ⋅ 16g

2 ⋅ 70g

1 ⋅ 62g

https://dl.doubtnut.com/l/_eESMtton75hF
https://dl.doubtnut.com/l/_OjhGZex5UWb6
https://dl.doubtnut.com/l/_0GNrr1ng6tIv


61. The mass of CaO that shall be obtained by heating 20 kg of

90% pure lime stone  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(CaCO3)

11 ⋅ 2kg

8 ⋅ 4kg

10 ⋅ 08kg

16 ⋅ 8kg

62. The mass of  produced when carbon dioxide is

bubbled through 500 mL of   will be

A. 10 g

CaCO3

0 ⋅ 5M Ca(OH)2

https://dl.doubtnut.com/l/_0GNrr1ng6tIv
https://dl.doubtnut.com/l/_URZ79IDRoQXi


B. 20 g

C. 50 g

D. 25 g

Answer: D

Watch Video Solution

63. What mass of calcium chloride in grams would be enough to

produce  g of AgCl? (At. mass: Ca=40, Ag=108)

A. 

B. 

C. 

D. 

14 ⋅ 35

5 ⋅ 55g

8 ⋅ 295g

16 ⋅ 59g

11 ⋅ 19g

https://dl.doubtnut.com/l/_URZ79IDRoQXi
https://dl.doubtnut.com/l/_DoHlckD6jO1g


Answer: A

Watch Video Solution

64. If LPG cylinder contains mixture of butane and isobutane,

then the amount of oxygen that would be required for

combustion of 1 kg of it will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 ⋅ 8kg

2 ⋅ 7kg

4 ⋅ 5kg

3 ⋅ 58kg

https://dl.doubtnut.com/l/_DoHlckD6jO1g
https://dl.doubtnut.com/l/_IcOfETjby7X4
https://dl.doubtnut.com/l/_2Qlwcr6VvS3H


65. The mass of 70%  required for neutralization of one

mole of NaOH is:

A. 49 g

B. 98 g

C. 70 g

D. 

Answer: C

Watch Video Solution

H2SO4

34 ⋅ 3g

66. If potassium chlorate is 80% pure, then 48 g of oxygen would

be produced from (atomic mass of K = 39)

A.  of 153 ⋅ 12g KClO3

https://dl.doubtnut.com/l/_2Qlwcr6VvS3H
https://dl.doubtnut.com/l/_ohJrCvrY39P0


B.  of 

C.  of 

D.  g of 

Answer: A

Watch Video Solution

122 ⋅ 5g KClO3

245g KClO3

98 ⋅ 0 KClO3

67. A sample of hard water is found to contain 40 mg of 

ions per litre. The amount of washing shoda  required

to soften L of the sample would be

A. 

B. 

C. 

D. 

Ca2 +

(Na2CO3)

5 ⋅ 0

1 ⋅ 06g

5 ⋅ 3g

53mg

530mg

https://dl.doubtnut.com/l/_ohJrCvrY39P0
https://dl.doubtnut.com/l/_RPEKnRbUhNoL


Answer: D

Watch Video Solution

68. The mass of oxygen that would be required to produce

enough CO which completely reduces  kg  (at. mass of

Fe = 56)

A. 240 g

B. 480 g

C. 720 g

D. 960 g

Answer: B

Watch Video Solution

1 ⋅ 6 Fe2O3

https://dl.doubtnut.com/l/_RPEKnRbUhNoL
https://dl.doubtnut.com/l/_b3KDKDICTvCN
https://dl.doubtnut.com/l/_VA2khQ6W29tP


69. NO reacts with  to form . When 10 g of  is formed

during the reaction, the mass of  consumed is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

O2 NO2 NO2

O2

1 ⋅ 90g

5 ⋅ 0g

3 ⋅ 48g

13 ⋅ 9g

70. The mass of 60% HCl by mass required for the neutralisation

of 10 L of  M NaOH is

A. 

0 ⋅ 1

60 ⋅ 8g

https://dl.doubtnut.com/l/_VA2khQ6W29tP
https://dl.doubtnut.com/l/_Pp4kPNSUtgxv


B. 

C. 

D. 

Answer: A

Watch Video Solution

21 ⋅ 9g

100g

219g

71. 100 tons of  containing 20% impurities will give iron by

reduction with  equal to

A. 112 tons

B. 80 tons

C. 160 tons

D. 56 tons'

Fe2O3

H2

https://dl.doubtnut.com/l/_Pp4kPNSUtgxv
https://dl.doubtnut.com/l/_CFDxLYH92b9T


Answer: D

Watch Video Solution

72. In a given sample of  each 100 mL of solution contains

68 mg of . The molarity of the solution is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2O2

H2O2

0 ⋅ 02M

0 ⋅ 2M

2M

20M

https://dl.doubtnut.com/l/_CFDxLYH92b9T
https://dl.doubtnut.com/l/_lTNgmmfzA5ZJ


73. A mixture containing  mol each of  and  is ignited

so that water is formed. The amount of water formed is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 ⋅ 0 H2 O2

18 ⋅ 0g

36 ⋅ 0g

1 ⋅ 80g

3 ⋅ 60g

74.  of Mg (At mass 24) will produce MgO equal to

A.  mol

B. 

1 ⋅ 2g

0 ⋅ 05

40g

https://dl.doubtnut.com/l/_1K0IIbnCKDFV
https://dl.doubtnut.com/l/_jpGPkBPxW8GK


C. 

D. 

Answer: A

Watch Video Solution

40mg

4g

75. A solution of  M of a metal chloride  requires 500

mL of  M  solution for complete precipitation. The

value of x is

A. 

B. 

C. 

D. 

0 ⋅ 1 MClx

0 ⋅ 6 AgNO3

1

2

4

3

https://dl.doubtnut.com/l/_jpGPkBPxW8GK
https://dl.doubtnut.com/l/_j4bQZn4X2KYC


Answer: D

Watch Video Solution

76. The vapour density of gas A is four times that of B. If

moelcular mass of B is M, then molecular mass of A is

A. M

B. 4 M

C. 

D. 2 M

Answer: B

Watch Video Solution

M

4

https://dl.doubtnut.com/l/_j4bQZn4X2KYC
https://dl.doubtnut.com/l/_yioUBQD20Dl9


77. A compound made of two elements A and B are found to

contain 25 % A (at. mass ) and 75% B (at. mass ) The

simplest formula of the compound is

A. AB

B. 

C. 

D. 

Answer: A

Watch Video Solution

12 ⋅ 5 37 ⋅ 5

AB2

AB3

A3B

78. On analysis a certain compound was found to contain iodine

and oxygen in the ratio of 254 g of iodine (at. mass 127) and 80 g

oxygen (at. mass 16). What is the formula of the compound?

https://dl.doubtnut.com/l/_paggkOqGiVJb
https://dl.doubtnut.com/l/_G9wFPCN7BTOT


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

IO

I2O

I5O3

I2O5

79. A container of volume V, contains  g of  gas. If same

volume of an unknown gas under similar conditions of

temperature and pressure weighs  g, the molecular mass of

the gas is

A. 

B. 

0 ⋅ 28 N2

0 ⋅ 44

22

44

https://dl.doubtnut.com/l/_G9wFPCN7BTOT
https://dl.doubtnut.com/l/_PO7waihhCay0


C. 

D. 

Answer: B

Watch Video Solution

66

88

80. Insulin contains  sulphur. Calculate minimum mol.wt. of

insulin.

A. 

B. 

C. 

D. 

Answer: C

W h Vid S l i

3.4 %

94 ⋅ 117

1884

941 ⋅ 176

976 ⋅

https://dl.doubtnut.com/l/_PO7waihhCay0
https://dl.doubtnut.com/l/_Grbg04Ri68gY


Watch Video Solution

81.  g of an element gives  g of its chloride, the equivalent

mass of the element is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

B1 B2

× 35 ⋅ 5
B1

B2 − B1

× 35 ⋅ 5
B2

B2 − B1

× 35 ⋅ 5
B2 − B1

B1

× 35 ⋅ 5
B2 − B1

B2

82. The haemoglobin from the red blood corpuscles of most

mammals contains approximately  of iron by weight. The0.33 %

https://dl.doubtnut.com/l/_Grbg04Ri68gY
https://dl.doubtnut.com/l/_lVrLSKi61s81
https://dl.doubtnut.com/l/_qujQLAR24PLt


molecular weight of haemoglobin as . 


The number of iron atoms in each molecule of haemoglobin is

(atomic weight of iron ):

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

67, 200

= 56

3

4

2

6

83. Two oxides of a metal contain  and  metal 

respectively. If the formula of the first oxide is , the formula

of the second oxide will be

50 % 40 % M

MO2

https://dl.doubtnut.com/l/_qujQLAR24PLt
https://dl.doubtnut.com/l/_v6ai5MyWePT3


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

MO2

MO3

M2O

M2O5

84. 60 g of a compound on analysis gave 24 g C, 4 g H and 32 g O.

The empirical formula of the compound is

A. 

B. 

C. 

D. 

C2H4O2

C2H2O2

CH2O2

CH2O

https://dl.doubtnut.com/l/_v6ai5MyWePT3
https://dl.doubtnut.com/l/_Afee53QwiTbG


Answer: D

Watch Video Solution

85. A 400 mg iron capsule contains 100 mg of ferrous fumarate,

Fe. The percentage of iron present in it is

approximately

A. 

B. 

C. 

D. unpredictable

Answer: A

Watch Video Solution

(CHCOO)2

8 ⋅ 2 %

25 %

16 %

https://dl.doubtnut.com/l/_Afee53QwiTbG
https://dl.doubtnut.com/l/_ik05pgAnZjKV
https://dl.doubtnut.com/l/_kqT1jz6NhxSJ


86. An unsaturated hydrocarbon weighing  g has a volume of

488 mL at S.T.P. If it contains 14 % of hydrogen. Then the family to

which hydrocarbon belongs is

A. Alkane

B. Alkene

C. Alkyne

D. Benzene

Answer: B

Watch Video Solution

1.68

87.  mol of potassium ferrocyanide contains carbon equal to

A.  mol

0 ⋅ 5

1 ⋅ 5

https://dl.doubtnut.com/l/_kqT1jz6NhxSJ
https://dl.doubtnut.com/l/_mr5LyyS9R355


B. 

C. 

D. 

Answer: B

Watch Video Solution

36g

18g

3 ⋅ 6g

88. Caffeine has a molecular mass of . If it contains  by

mass of nitrogen, number of atoms of nitrogen in one molecule

of caffeine is :

A. 

B. 

C. 

D. 

194 28.9 %

3

4

5

6

https://dl.doubtnut.com/l/_mr5LyyS9R355
https://dl.doubtnut.com/l/_VkqXqxb0tKCi


Answer: B

Watch Video Solution

89. 0.16 g of dibasic acid required 25 ml of decinormal NaOH

solution for complete neutralisation. The molecular weight of the

acid will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

256

64

32

128

https://dl.doubtnut.com/l/_VkqXqxb0tKCi
https://dl.doubtnut.com/l/_DZ7lJ3CTn0gv
https://dl.doubtnut.com/l/_cq1UNbL1JBDa


90. In a certain reaction ferrous oxalate is oxidised to ferric

sulphate and  by acidified potassium permanganate, the

equivalent mass of ferrous oxalate is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CO2

Mol. mass

3

Mol. mass

1

Mol. mass

2

Mol. mass

0 ⋅ 5

91.  of a triatomic gas weights  g at  and . The

mass of one atom of this gas is:

A. 

224mL 1 273K 1atm

8 ⋅ 30 × 10− 23g

https://dl.doubtnut.com/l/_cq1UNbL1JBDa
https://dl.doubtnut.com/l/_Ctw0kPFVyjYV


B.  g

C.  g

D.  g

Answer: C

Watch Video Solution

2 ⋅ 08 × 10− 23

5.53 × 10− 23

6.24 × 10− 23

92. Potassium chromate is isomorphous to potassium sulphate

. It is found to contain  chromium. Calculate

the atomic mass of chromium (K = ).

A. 

B. 

C. 

D. 

(K2SO4) 26 ⋅ 78 %

39 ⋅ 10

58

52

48

49

https://dl.doubtnut.com/l/_Ctw0kPFVyjYV
https://dl.doubtnut.com/l/_7lzQNGNEyIyi


Answer: B

View Text Solution

93. Which one of the following properties of an element is not

variable ?

A. Valency

B. Equivalent mass

C. Atomic mass

D. All of three

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7lzQNGNEyIyi
https://dl.doubtnut.com/l/_KMXobFw6ZjbN


94. Divide a pieca of ice into half. Divide it further and keep on

dividing it many times. The smallest piece of ice that you can get

by this division is

A. an atom

B. a molecule

C. a particle

D. a crystal

Answer: B

Watch Video Solution

95. The notations of symbols for element that we use today was

started by

https://dl.doubtnut.com/l/_o5I1dxczxIUt
https://dl.doubtnut.com/l/_VSp0BHBuDPEZ


A. Boyle

B. Dalton

C. Berzelius

D. Lavoisier

Answer: C

Watch Video Solution

96. Atomicity of mercury vapour is

A. 

B. 

C. 

D. 

1

2

3

4

https://dl.doubtnut.com/l/_VSp0BHBuDPEZ
https://dl.doubtnut.com/l/_ERULvCDkVBvj


Answer: A

Watch Video Solution

97. If atomic mass of oxygen were taken as 100, the moleuclar

mass of water would be approximately

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

6 ⋅ 25

112 ⋅ 5

102

106 ⋅ 25

https://dl.doubtnut.com/l/_ERULvCDkVBvj
https://dl.doubtnut.com/l/_4lxghp6Zikpw


98. The answer to the following problem in standard exponential

form is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(2.0 × 1013) + (1.5 × 1014)

3.5 × 1013

3.5 × 1014

2.15 × 1013

1.7 × 1014

99.  The correct answer to this problem in

proper number of significant digit is

A. 

24.8Ã ⋅ 12.4 − ?

2

https://dl.doubtnut.com/l/_potRpwwsB9UJ
https://dl.doubtnut.com/l/_UTxEy7pEyV1r


B. 

C. 

D. 

Answer: C

View Text Solution

2.0

2.00

2.000

100. . The correct answer to this

problem is proper number of significant digit is

A. 

B. 

C. 

D. 

152.06 × 0.24 = 36.4944

36.4944

36.494

37

36.5

https://dl.doubtnut.com/l/_UTxEy7pEyV1r
https://dl.doubtnut.com/l/_sfUe0WfDq2te


Answer: C

View Text Solution

101.  The correct answer to this problem in

proper number of significant digits is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

1280Ã ⋅ 2.0 = ?

64

6.40 × 102

640.0

640

https://dl.doubtnut.com/l/_sfUe0WfDq2te
https://dl.doubtnut.com/l/_rjNfIRfgLn58


102. Number of significant figures in  is/are

A. one

B. two

C. three

D. All are correct

Answer: D

View Text Solution

200cm3

103. . The correct answer to this problem in

proper number of significant digits is

A. 

B. 

108Ã ⋅ 7.2 = 14.583

15

14.58

https://dl.doubtnut.com/l/_IKwv4IMqutA8
https://dl.doubtnut.com/l/_NftvMq5cogQW


C. 

D. None of these

Answer: A

View Text Solution

14.5

104. . The sum to proper

number of significant digit is

A. 

B. 

C. 

D. 

Answer: B

W h Vid S l i

14.90 + 0.0070 + 1.0 + 0.081 = 15.9880

15.9

16.0

15.99

16

https://dl.doubtnut.com/l/_NftvMq5cogQW
https://dl.doubtnut.com/l/_gRtX3YbeYe8l


Watch Video Solution

105. L

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1m3 = ?

10L

102L

103L

1L

106. When a sample of human blood is diluted 200 time its initial

volume and microscopically examined in a layer 0.10 mm thick, an

https://dl.doubtnut.com/l/_gRtX3YbeYe8l
https://dl.doubtnut.com/l/_kYGIiUQO8xy6
https://dl.doubtnut.com/l/_3GICRs3smsjK


average of 30 RBC are found in  micrometer square.

The number of RBC in 1  of undiluted blood is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

100 × 100

mm3

106

6 × 106

2 × 106

3 × 106

107. 1 L atm=? J 

Given 1 atm = 101325 Pa

A. 101.325 J

B. 10.1325 J

https://dl.doubtnut.com/l/_3GICRs3smsjK
https://dl.doubtnut.com/l/_Lr8uJpX2ZrWC


C. 1013.25 J

D. 10132.5 J

Answer: A

Watch Video Solution

108. Density of mercury is . Its density in kg  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

13.6gcm− 3 m− 3

1.36kgm− 3

13.6kgm− 3

136.0kgm− 3

13.6 × 103kgm3

https://dl.doubtnut.com/l/_Lr8uJpX2ZrWC
https://dl.doubtnut.com/l/_i6PEMWWzaqBO


109. Vanadium metal is added to steel to impart strength. Its

density is . In SI system it is equal to

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

5.96gcm− 3

5.96kg/m− 3

5.96 × 102kg/m3

5.96 × 103kg/m3

59.6kg/m3

110. Which of the following has largest volume?

A. 445 g of water at  (density )4∘C 1g/cm3

https://dl.doubtnut.com/l/_i6PEMWWzaqBO
https://dl.doubtnut.com/l/_kDAJmmnWtWj9
https://dl.doubtnut.com/l/_ZAp4lrINLkCU


B. 600 g of chloroform at  (density )

C.  of steel

D. 0.50 L of milk

Answer: D

Watch Video Solution

20∘C 1.5g/m3

155cm3

111. The percentage of sodium in a breakfast careal labelled as

 of sodium per  of cereal is:

A. 

B. 

C. 

D. 

110mg 100g

1.10 %

0.110 %

0.011 %

11.0 %

https://dl.doubtnut.com/l/_ZAp4lrINLkCU
https://dl.doubtnut.com/l/_XxTdFCnHvp0H


Answer: B

Watch Video Solution

112. A mixture of petrol and ethyl alcohol contains 22.0 % alcohol.

The density of the mixture is . What mass of alcohol

is there in 40.0 mL of the mixture?

A. 7.04 g

B. 4.40 g

C. 11

D. None of these

Answer: A

Watch Video Solution

0.800gmL− 1

https://dl.doubtnut.com/l/_XxTdFCnHvp0H
https://dl.doubtnut.com/l/_tzdfKCyq3vQB
https://dl.doubtnut.com/l/_5zOXFf0iCDHS


113. The density of salt solution is  at 298 K. The

solution contains 17.0 % sodium chloride. What volume of

solution will contain 38.42 g of NaCl?

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

1.13gcm− 3

255.38cm3

200cm3

578cm3

114. Units of a and b in van der Waal's equation

 are(P + )(V − nb) = nRT
an2

V 2

https://dl.doubtnut.com/l/_5zOXFf0iCDHS
https://dl.doubtnut.com/l/_fA900ZamV67X


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

L2atm− 1, L

atmL− 2, L− 1

L2atm− 1mol− 2, Lmol− 1

atmL2mol− 2, Lmol− 1

115. Molar conductance of a solution is given by the expression 

 


Here c is the concentration in mol  and k is expressed in 

. Units of molar conductance are

A. 

B. 

∧ m =
k × 1000mLL− 1

c

L− 1

ohm− 1cm− 1

ohmmol− 1

Ohmcm− 1mol− 1

https://dl.doubtnut.com/l/_fA900ZamV67X
https://dl.doubtnut.com/l/_NJKEZ2KQHvRV


C. 

D. None of these

Answer: A

Watch Video Solution

ohmcm2mol

116. The physical quantity which has same dimensions as that of

Planck's constant is

A. momentum

B. angular momentum

C. angular velocity

D. None of these

Answer: B

W h Vid S l i

https://dl.doubtnut.com/l/_NJKEZ2KQHvRV
https://dl.doubtnut.com/l/_6dEAk697KQbV


Watch Video Solution

117. "The Star of India" sapphire weighs 563 carats. If one carat is

equal to 200 mg, the weight of the gemstone in grams is

A. 112.6 g

B. 11.26 g

C. 1.126 g

D. 1126 g

Answer: A

Watch Video Solution

118. If 6.3 g of  are added to 15.0 g of 

solution, the residue is found to weigh 18.0 g. The mass of 

NaHCO3 CH3COOH

CO2

https://dl.doubtnut.com/l/_6dEAk697KQbV
https://dl.doubtnut.com/l/_iiPonXjfQK2Y
https://dl.doubtnut.com/l/_t0IRDeeL1kjA


released in the reaction is

A. 9.3 g

B. 39.3 g

C. 3.3 g

D. None of these

Answer: C

View Text Solution

119. KBr contains 32,9 % potassium by mass. If 6.40 g of  is

made to react with 3.60 g of potassium, the actual mass of

potassium which reacted with  is

A. 3.14 g

B. 1.76 g

Br2

Br2

https://dl.doubtnut.com/l/_t0IRDeeL1kjA
https://dl.doubtnut.com/l/_fFf7xmMZboTX


C. 3.6 g

D. None of these

Answer: A

View Text Solution

120. Chlorophyll, the green colouring matter of plants

responsible for photosynthesis contains 2.68 % of magnesium by

mass. The number of magnesium atoms in 2.00 g of chlokrophyll

are

A. 

B. 

C. 

D. 

1.33 × 1023

6.02 × 1023

3.01 × 1021

1.34 × 1021

https://dl.doubtnut.com/l/_fFf7xmMZboTX
https://dl.doubtnut.com/l/_BpPZUY6xSKSL


Answer: D

Watch Video Solution

121. If 224 mL of triatomic gas has a mass of 1 g at 273 K and 1

atm. Pressure, then the mass of one atom is

A. g

B. g

C. g

D. g

Answer: D

Watch Video Solution

8.30 × 10− 23

6.24 × 10− 23

2.08 × 10− 23

5.54 × 10− 23

https://dl.doubtnut.com/l/_BpPZUY6xSKSL
https://dl.doubtnut.com/l/_NhxXZj3W6qOG


122. Sodium chloride contains 60.68% chlorine by mass. If 7.1 g

chlorine is made to react with 5.2 g of sodium, the number of

moles of sodium which reacted with  is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Cl2

0.2

0.1

0.21

0.12

123. Select the correct statement

A. At S.T.P. volume occupied by 1 mole liquid water is 22.4 L

https://dl.doubtnut.com/l/_5gnnNUPursYT
https://dl.doubtnut.com/l/_835kyVO2NSQV


B. 1 mole of every substance at S.T.P. has 22.4 L as volume

C. Volume occupied by 1 g  gas at S.T.P. is equal to volume

occupied by 2g He at S.T.P.

D.  is a real gas if 1 g of it at S.T.P. has volume 1.4 L

Answer: C

Watch Video Solution

H2

CH4

124. Which has maximum volume at S.T.P.?

A.  molecules of 

B. 1 g 

C. 4 g 

D. 16 g 

1.5 × 1023 CO2

H2

O2

SO3

https://dl.doubtnut.com/l/_835kyVO2NSQV
https://dl.doubtnut.com/l/_REN8mEMu6Ejq


Answer: B

View Text Solution

125. Following is the graphical presentation of volumes occupied

by different gases at S.T.P. 

Which is/are not placed at correct position? 

A. H2, He

https://dl.doubtnut.com/l/_REN8mEMu6Ejq
https://dl.doubtnut.com/l/_7AZlsl7lYHAZ


B. 

C. 

D. 

Answer: B

View Text Solution

He, NH3

NH3, CH4

CH4, H2

126. In a test-tube, there is 18 g of glucose  0.08 mole

of glucose is taken out. Glucose left in the test tube is

A. 0.10 g

B. 0.02 g

C. 0.10 mol

D. 3.60 g

(C6H12O6)

https://dl.doubtnut.com/l/_7AZlsl7lYHAZ
https://dl.doubtnut.com/l/_Tdzl9uuPNFIG


Answer: D

View Text Solution

127. One required 0.01 mole of . Mass of . 

 to be taken is

A. 1.06 g

B. 2.86 g

C. 1.80 g

D. 3.02 g

Answer: B

Watch Video Solution

Na2CO3 Na2CO3

10H2O

https://dl.doubtnut.com/l/_Tdzl9uuPNFIG
https://dl.doubtnut.com/l/_CXLQn4xjNVsP


128. Compute the value of x : 

x = 9.4g of phenol  molecules of

phenol - 0.2 mole of phenol 

Here x is:

A. 0.9 mol

B. 9.2 g

C. 0.1 mol

D.  molecules

Answer: A

Watch Video Solution

(C6H5OH) + 6.02 × 1023

6.02 × 1023

129. If Avogadro's number would have been , then

mass of one atom of  would have been

1 × 1023mol− 1

.8 O
16

https://dl.doubtnut.com/l/_tvA5rC5Yg0Bx
https://dl.doubtnut.com/l/_PqrkIZuFHJhH


A. 16 amu

B. 

C. 

D.  amu

Answer: B

Watch Video Solution

aμ
16

6.02

(16 × 6.02)aμ

16 × 10− 23

130. Number of atoms in 12 g of  is equal to

A. oxygen atoms in 11 g 

B. hydrogen atoms in 4g 

C. nitrogen atom in 46 g 

D. sulphur atom in 79 g 

24
12Mg

CO2

CH4

N2O4

Na2S2O3

https://dl.doubtnut.com/l/_PqrkIZuFHJhH
https://dl.doubtnut.com/l/_ZeEPtJIK8tz9


Answer: A

Watch Video Solution

131. The rest mass of an electron is  kg. Molar mass

of the electron is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

9.11 × 10− 31

1.5 × 10− 31kgmol− 1

9.11 × 10− 31kgmol− 1

5.5 × 10− 7kgmol− 1

6.02 × 1023kgmol− 1

https://dl.doubtnut.com/l/_ZeEPtJIK8tz9
https://dl.doubtnut.com/l/_MFqhuOb8kBmS


132. Mass of one atom of an element is . This mass

is equal to

A. 16 amu

B. 

C. Both are correct

D. None is correct

Answer: C

Watch Video Solution

2.66 × 10− 23g

2.39 × 10− 9J

133. Mass of one atom of the element X is .

Number of atoms in 1 g of the element is:

A. 

1.66 × 10− 24g

1.66 × 10− 24

https://dl.doubtnut.com/l/_tZeWDpIaMMoE
https://dl.doubtnut.com/l/_GRR8nkIqBM5K


B. 

C. 

D. 

Answer: D

Watch Video Solution

1.66 × 1024

1.66 × 10− 24 × NA

6.02 × 1023

134. A compound has hemoglobin-like structure. It has one 

and contains  of . The approximate molecular mass is

A. 

B. 

C. 

D. 

Fe

4.6 % Fe

100gmol− 1

1200gmol− 1

1600gmol− 1

1400gmol− 1

https://dl.doubtnut.com/l/_GRR8nkIqBM5K
https://dl.doubtnut.com/l/_FVWqUJC5yH2b


Answer: B

Watch Video Solution

135. Which of the following samples contains the largest number

of atoms ? .

A. 1 g of Ni(s)

B. 1 g of Ca(s)

C. 1 g of  (g)

D. 1 g of B (s)

Answer: D

Watch Video Solution

N2

https://dl.doubtnut.com/l/_FVWqUJC5yH2b
https://dl.doubtnut.com/l/_NfcaCMY9orHn


136. Which one of the following samples contains the smallest

number of atoms ?

A. 1 g of (g)

B. 1 g of (l)

C. 1 g of  (g)

D. 1 g of LiF(s)

Answer: A

Watch Video Solution

CO2

C8H18

C2H6

137. A sample of ammonium phosphate,  contains 

 mol of hydrogen atoms. The number of moles of oxygen

atoms in the sample is .

(NH4)3PO4

3.18

https://dl.doubtnut.com/l/_hJsiqqmOZHLe
https://dl.doubtnut.com/l/_U6NJ42gLsn5n


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.265

0.795

1.06

3.18

138. A sample of copper sulphate pentahydrate, 

contains  of . How many grams of oxygen are in this

sample?

A. 

B. 

C. 

CuSO4. 5H2O

3.782g Cu

0.952g

3.809g

4.761g

https://dl.doubtnut.com/l/_U6NJ42gLsn5n
https://dl.doubtnut.com/l/_zdE3P4KcdYGZ


D. 

Answer: D

Watch Video Solution

8.576g

139. A sample of argentite ore contains 1.34% of  by mass.

How many grams of this ore would give 1g of Ag on extraction?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ag2S

74.6g

85.7g

107.9g

134.0g

https://dl.doubtnut.com/l/_zdE3P4KcdYGZ
https://dl.doubtnut.com/l/_Lvbx3dZm0Bir


140. Ethanol, , is the substance commonly called

"alcohol". The density of liquid ethanol is 0.789 g  at .

If 1.2 moles of ethanol are needed for a particular experiment,

what volume of ethanol should be measured out?

A. 55 mL

B. 58 mL

C. 70 mL

D. 79 mL

Answer: C

Watch Video Solution

C2H5OH

mL− 1 20∘C

141. What is the total number of atoms present in 25.0 mg of

camphor, ?C10H16O

https://dl.doubtnut.com/l/_O4QQCwa3yKHC
https://dl.doubtnut.com/l/_D3mHRUotVBZs


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

9.89 × 1019

6.02 × 1020

9.89 × 1020

2.67 × 1021

142. A gaseous hydrocarbon on complete combustion gives 3.38 g

of  and 0.690 g of  and no other product. The empirical

formula of the hydrocarbon is

A. 

B. 

C. 

CO2 H2O

CH

CH2

CH3

https://dl.doubtnut.com/l/_D3mHRUotVBZs
https://dl.doubtnut.com/l/_drgt8jKKQERw


D. The data is not complete

Answer: A

Watch Video Solution

143. A compound having the empirical formula  has a

molar mass of . The molecular formula of this compound

is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(C3H4O)n

170 ± 5

C3H4O

C6H8O2

C6H12O3

C9H12O3

https://dl.doubtnut.com/l/_drgt8jKKQERw
https://dl.doubtnut.com/l/_NkiNr5IugWqg


Watch Video Solution

144. Cortisone is a molecular substance containing  atoms of

carbon per molecule. The mas percentage of carbon in cortisone

is . Its molar mass is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

21

69.98 %

176.5

252.2

287.6

360.1

145. A metal nitride  contains 28 % of nitrogen. The atomic

mass of metal  is

M3N2

M

https://dl.doubtnut.com/l/_NkiNr5IugWqg
https://dl.doubtnut.com/l/_MqKCScGne9IV
https://dl.doubtnut.com/l/_xIV6EPeQUyCd


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

24

54

9

87.62

146. The simplest formula of a compound containing  of

element  at  and  of element  at  is 

A. 

B. 

C. 

D. 

50 %

X( wt. 10) 50 % Y ( wt.20) −

XY

X2Y

XY2

X2Y3

https://dl.doubtnut.com/l/_xIV6EPeQUyCd
https://dl.doubtnut.com/l/_bjdu869RfjQN


Answer: B

Watch Video Solution

147. A sample of pure compound contains 1.15 g of sodium,

 atoms of carbon and 0.1 mol of oxygen atom. Its

empirical formula is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3.01 × 1022

Na2CO3

NaCO2

Na2CO

Na2CO2

https://dl.doubtnut.com/l/_bjdu869RfjQN
https://dl.doubtnut.com/l/_TcuDG9dW6aBv
https://dl.doubtnut.com/l/_CwwarJDvmwpW


148. If 20 g of  is treated with 100 mL of 20% HCl solution,

the amount of  produced is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CaCO3

CO2

22.4L

8.80g

4.40g

2.24L

149. 500 mL of 0.250 M  solution is treated with 15.00 g

of . Moles of  formed are

A. 

Na2SO4

BaCl2 BaSO4

0.72

https://dl.doubtnut.com/l/_CwwarJDvmwpW
https://dl.doubtnut.com/l/_aI8EDU43T1xw


B. 

C. 

D. 

Answer: B

Watch Video Solution

0.072

0.168

0.0168

150. If 0.30 mol of zinc are added to 0.52 mol of HCl, the moles of

 formed are

A. 

B. 

C. 

D. 

H2

0.52

0.30

0.26

0.60

https://dl.doubtnut.com/l/_aI8EDU43T1xw
https://dl.doubtnut.com/l/_I0K4ozpQsJDA


Answer: C

Watch Video Solution

151. What mass of  is required to react completely with 25

ml of ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CaCO3

0.75MHCI

0.94g

9.4g

0.094g

0.49g

https://dl.doubtnut.com/l/_I0K4ozpQsJDA
https://dl.doubtnut.com/l/_vhu221C9K8d7


152. The mass of NaCl produced when 200 mL of 2.00 M HCl

solution is neutralised with NaOH is

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

2.34g

23.4g

234g

153. 1 mol of  and 1 mol of  react completely to form 

 and S as follows: 


 


SO2 H2S

H2O

SO2 + 2H2S → 2H2O + 3S

https://dl.doubtnut.com/l/_oklN9mgy4E6H
https://dl.doubtnut.com/l/_7ADuM0GmJy6F


(At. mass S = 32, O = 16) 

The mass of S obtained is:

A. 96 g S

B. 48 g S

C. 24 g S

D. 64 g S

Answer: B

Watch Video Solution

154. Under S.T.P. 1 mol of  and 3 mol of  will form on

complete reaction

A. 4 moles of 

B. 89.6 L of 

N2 H2

NH3

NH3

https://dl.doubtnut.com/l/_7ADuM0GmJy6F
https://dl.doubtnut.com/l/_AzgQaBb4jtrR


C. 22.4 L of 

D. 44.8 L of 

Answer: D

Watch Video Solution

NH3

NH3

155. 100 mL of  on decomposition produced phosphorus and

hydrogen. The change in volume is

A. 50 mL increase

B. 500 ml decrease

C. 900 mL decrease

D. nil

Answer: A

PH3

https://dl.doubtnut.com/l/_AzgQaBb4jtrR
https://dl.doubtnut.com/l/_1WpsWLKvT3MI


Watch Video Solution

156. The ratio of the molar amounts of  needed to

precipitate the metal ions from 20 mL each 1 M Cd  and

0.5 M  is

A. 

B. 

C. 

D. indefinite

Answer: B

Watch Video Solution

H2S

(NO3)2

CuSO4

1: 1

2: 1

1: 2

https://dl.doubtnut.com/l/_1WpsWLKvT3MI
https://dl.doubtnut.com/l/_imFdoMdHdEpJ


157. 10.0 g of a mixture of BaO and CaO require 100 mL of 2.50 M

HCl to react with it completely. Amount of BaO in the mixture is

(At mass Ca = 40, Ba = 137, O = 16)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

47.3 %

43.7 %

37.4 %

74.37 %

158. The reaction between yttrium metal Y and dilute

hydrochloric acid produce (g) and  ions. The molar ratio

of yttrium used to hydrogen produced is

H2 Y 3 +

https://dl.doubtnut.com/l/_zArFyZgqXKaV
https://dl.doubtnut.com/l/_En6X40Ft2dK7


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1: 2

1: 3

2: 1

2: 3

159. If 0.5 mol of  is mixed with 0.2 mol of , the

maximum number of moles of  that can be formed is

A. 

B. 

C. 

D. 

BaCl2 Na3PO4

Ba3(PO4)2

0.7

0.5

0.1

0.2

https://dl.doubtnut.com/l/_En6X40Ft2dK7
https://dl.doubtnut.com/l/_kx4LNwGHUBjB


Answer: C

Watch Video Solution

160. Sulphuryl chloride, , reacts with  to give mixture

of  and HCl. Aqueous solution of 1 mol  will be

neutralised by

A. 3 moles of NaOH

B. 2 moles of 

C. Both (A) and (B)

D. None of these

Answer: B

Watch Video Solution

SO2Cl2 H2O

H2SO4 SO2Cl2

Ca(OH)2

https://dl.doubtnut.com/l/_kx4LNwGHUBjB
https://dl.doubtnut.com/l/_biQEKjx8owPi
https://dl.doubtnut.com/l/_EOu1PSIB8TmR


161. One mole of potassium chlorate is thermally decomposed

and excess of aluminium is burnt in the gaseous product. How

many moles or aluminium oxide are formed?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

1

2

1.5

3

162.  


2 g  and 1 g  react to form 

A. 

2H2 + O2 → 2H2O

H2 O2 H2O

3.0g

https://dl.doubtnut.com/l/_EOu1PSIB8TmR
https://dl.doubtnut.com/l/_fzD071oMRz3I


B. 

C. 

D. 

Answer: B

Watch Video Solution

1.125g

4.5g

2.50g

163. Sulphuric acid and orthophosphoric acid have the same

molecular mass. Ratio of the masses of these acids needed to

neutralise the same amount of an alakli if the sulphate and

dihydrogen orthophosphate were formed, is:

A. 

B. 

C. 

1: 2

2: 1

1: 3

https://dl.doubtnut.com/l/_fzD071oMRz3I
https://dl.doubtnut.com/l/_tpk2niK21IPf


D. 

Answer: A

Watch Video Solution

1: 1

164.  


Maximum amount of  formed when 2 moles each of 

 and  react is

A. 4 mol

B. 1 mol

C. 

D. 

Answer: C

View Text Solution

3BaCl2 + 2Na3PO4 → Ba3(PO4)2 + 6NaCl

Ba3(PO4)2

Na3PO4 BaCl2

mol
2

3

mol
1

3

https://dl.doubtnut.com/l/_tpk2niK21IPf
https://dl.doubtnut.com/l/_JAe1E2yD4dw8


View Text Solution

165. 50 mL solution of  (20.8% w//v) and 100 mL solution of

 (9.8% w//v) are mixed (Ba = 137, Cl = 35.5, S=32) 


 


Weight of  formed is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

BaCl2

H2SO4

BaCl2 + H2SO4 → BaSO4 ↓ 2HCl

BaSO4

23.3g

46.6g

29.8g

11.65g

https://dl.doubtnut.com/l/_JAe1E2yD4dw8
https://dl.doubtnut.com/l/_PGmxHOIo4sYp


166. 2 mol of  and 11.2 L of  at N.T.P. react to form x moles

of sulphur, x is 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2S SO2

SO2 + 2H2S → 3S + 2H2O

1.5

3

11.2

6

167. Volume of  gas occupied by its one equivalent at S.T.P. is

A. 

H2

22.4L

https://dl.doubtnut.com/l/_GvIXh5jZiM7a
https://dl.doubtnut.com/l/_MrwFPVzuGUXG


B. 

C. 

D. 

Answer: B

Watch Video Solution

11.2L

5.6L

1.0L

168. In the combustion of 5.00 g of a metal, 9.44 g of metal oxide

are formed. Hence, equivalent mass of the metal is

A. 

B. 

C. 

D. 

4.44g

9.00g

5.00g

2.22g

https://dl.doubtnut.com/l/_MrwFPVzuGUXG
https://dl.doubtnut.com/l/_FT1cy0SBY7Xp


Answer: B

Watch Video Solution

169. The same amount of a metal combines with 0.20 g of oxygen

and with 3.17 g of a halogen. Hence equivalent mass of halogen is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

127g

80g

35.5g

9g

https://dl.doubtnut.com/l/_FT1cy0SBY7Xp
https://dl.doubtnut.com/l/_Gz0sUnUHUhow


170. 8.34 g of a divalent metal is oxidised by 0.680 L of oxygen (in

standard conditions). Hence, atomic mass of the metal is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

68.7

34.3

137.4

274.7

171. Arsenic forms two oxides, one of which contains 65.2 % and

the other 75.7% of the element. Hence, equivalent masses of

arsenic are in the ratio

https://dl.doubtnut.com/l/_oqyxiN7x8HFT
https://dl.doubtnut.com/l/_1dddMepHwcfr


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1: 2

3: 5

13: 15

2: 1

172. The equivalent mass of chlorine is 35.5, and the molar mass

of copper is 63.5. The equivalent mass of copper chloride is 99.0.

Hence, formula of copper chloride is

A. 

B. 

C. 

CuCl

Cu2Cl

CuCl2

https://dl.doubtnut.com/l/_1dddMepHwcfr
https://dl.doubtnut.com/l/_anmRtDLzBznB


D. None of these

Answer: A

Watch Video Solution

173. A certain amount of a metal whose equivalent mass is 28

displaces 0.7 L of  at S.T.P. from an acid. Hence, mass of the

element is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2

1.75g

0.875g

3.50g

7.00g

https://dl.doubtnut.com/l/_anmRtDLzBznB
https://dl.doubtnut.com/l/_cHyyhC7eUYnE


Revision Questions From Competitive Exams

Watch Video Solution

1. How many moles of Helium gas occupy 22.4 L at  at 1 atm

pressure?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0∘C

0.11

0.90

1.0

1.11

https://dl.doubtnut.com/l/_cHyyhC7eUYnE
https://dl.doubtnut.com/l/_YGxVn96nYyoA


2. Which of the following has the smallest number of molecules?

A. 0.1 mol of  gas

B. 11.2 L of  gas at N.T.P.

C. 22 g of  gas

D.  of  gas

Answer: A

Watch Video Solution

CO2

CO2

CO2

22.4 × 103mL CO2

3. The number of atoms contained in 11.2 L of  at S.T.P. are

A. 

B. 

C. 

SO2

3/2 × 6.02 × 1023

2 × 6.02 × 1023

6.02 × 1023

https://dl.doubtnut.com/l/_wDndZeeNEO4R
https://dl.doubtnut.com/l/_mQOljplWZ3aG


D. 

Answer: A

Watch Video Solution

4 × 6.02 × 1023

4. The volume of 1.0 g of hydrogen in litres at N.T.P. is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2.24

22.4

1.12

11.2

https://dl.doubtnut.com/l/_mQOljplWZ3aG
https://dl.doubtnut.com/l/_xs06qvK0LL8v
https://dl.doubtnut.com/l/_jFZxEN5eS2rf


5. The number of oxygen atoms in 4.4 g of  is approximately

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CO2

1.2 × 1023

6 × 1022

6 × 1023

12 × 1023

6. The total number of gm-molecules of  in 13.5 g of

sulphuryl chloride is

A. 

B. 

SO2Cl2

0.1

0.2

https://dl.doubtnut.com/l/_jFZxEN5eS2rf
https://dl.doubtnut.com/l/_qICur6dKytMR


C. 

D. 

Answer: A

Watch Video Solution

0.3

0.4

7. The total number of protons in 10g of calcium carbonate is

A. 

B. 

C. 

D. 

Answer: C

W h Vid S l i

(N0 = 6.023 × 1023)

1.5057 × 1024

2.0478 × 1024

3.0115 × 1024

4.0956 × 1024

https://dl.doubtnut.com/l/_qICur6dKytMR
https://dl.doubtnut.com/l/_cDJcWXkbrHhF


Watch Video Solution

8. The number of moles of sodium oxide in 620 g of it is

A. 1 mol

B. 10 moles

C. 18 moles

D. 100 moles

Answer: B

Watch Video Solution

9. 2g of oxygen contains number of atoms equal to that in

A. 0.5 g of hydrogen

https://dl.doubtnut.com/l/_cDJcWXkbrHhF
https://dl.doubtnut.com/l/_VsBO96gkhFFc
https://dl.doubtnut.com/l/_4A68GfAl512X


B. 4g of sulphur

C. 7 g of nitrogen

D. 2.3 g of sodium

Answer: B

Watch Video Solution

10. The number of molecules in 8.96L of a gas at  and 1

atmosphere pressure is approximately

A. 

B. 

C. 

D. 

0∘C

6.02 × 1023

12.04 × 1023

18.06 × 1023

24.08 × 1022

https://dl.doubtnut.com/l/_4A68GfAl512X
https://dl.doubtnut.com/l/_FNIV9GOL93w2


Answer: D

Watch Video Solution

11. If  is Avogadro's number, then number of valence electrons

in 4.2 g of nitride ions  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NA

N 3 −

2.4NA

4.2NA

1.6NA

3.2NA

https://dl.doubtnut.com/l/_FNIV9GOL93w2
https://dl.doubtnut.com/l/_TFWvTuCDuRRs


12. In a chemical reaction 

the values of x,y,z are

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

K2Cr2O7 + xH2SO4 + ySO2 → K2SO4 + Cr2(CO4)3 + zH2O

1, 3, 1

4, 1, 4

3, 2, 3

2, 1, 2

13. The hydrogen phosphate of certain metal has formula

. The formula of metal chloride wouble beMHPO4

https://dl.doubtnut.com/l/_hAMxL62XLoGL
https://dl.doubtnut.com/l/_1E3rzWc8fcgq


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

MCl

MCl2

M2Cl2

MCl3

14. The number of moles of oxygen in 1 L of air containing 21%

oxygen by volume, in standard conditions, is

A. 0.186 mol

B. 0.21 mol

C. 2.10 mol

D. 0.0093 mol

https://dl.doubtnut.com/l/_1E3rzWc8fcgq
https://dl.doubtnut.com/l/_HxmFQNYjwm47


Answer: D

Watch Video Solution

15. The number of atoms in 4.25 g of  is approximately

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NH3

1 × 1023

1.5 × 1023

2 × 1023

6 × 1023

https://dl.doubtnut.com/l/_HxmFQNYjwm47
https://dl.doubtnut.com/l/_2iFAOIj7g3eA


16. 4.4 g of an unknown gas occupies 2.24 L of volume at standard

temperature and pressure, The gas may be

A. Carbon dioxide

B. Carbon monoxide

C. Oxygen

D. Sulphur dioxide

Answer: A

Watch Video Solution

17. The maximum amount of  precipitated on mixing 

 (0.5 M) with  (1M) will correspond to

A. 0.5 M

BaSO4

BaCl2 H2SO4

https://dl.doubtnut.com/l/_GNItys5ESgOh
https://dl.doubtnut.com/l/_h1SYk9KIqmhN


B. 1.0 M

C. 1.5 M

D. 2.0 M

Answer: A

Watch Video Solution

18. Volume of a gas at S.T.P. is  cc. Calculate the no. of

molecules in it

A. 

B. 

C. 

D. 

1.2 × 10− 7

3.01 × 1020

3.01 × 1012

3.01 × 1023

3.01 × 1024

https://dl.doubtnut.com/l/_h1SYk9KIqmhN
https://dl.doubtnut.com/l/_dYXwJCKnDw3O


Answer: B

Watch Video Solution

19. The largest no. of molecules is in

A. 34 g of water

B. 28 g of 

C. 46g of 

D. 54 g of 

Answer: A

Watch Video Solution

CO2

CH3OH

N2O5

20. The number of molecules in 16 g of methane is

https://dl.doubtnut.com/l/_dYXwJCKnDw3O
https://dl.doubtnut.com/l/_MlD6eD8ZnGA3
https://dl.doubtnut.com/l/_ivfKBTlCVBxD


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3.0 × 1023

6.02 × 1023

× 102316

6.02

× 102316

3.0

21. The volume in litres of  liberated at STP when 10 grams of

90% pure limestone is heated cmpletely is

A. 

B. 

C. 

D. 

CO2

22.4

2.24

20.6

2.016

https://dl.doubtnut.com/l/_ivfKBTlCVBxD
https://dl.doubtnut.com/l/_OcsoweiWNr0S


Answer: D

Watch Video Solution

22. Which is correct statement about proton?

A. Proton is the nucleus's of deutrium

B. Proton is alpha particle

C. Proton is ionized hydrogen molecule

D. Proton is ionized hydrogen atom

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_OcsoweiWNr0S
https://dl.doubtnut.com/l/_Vuj76h5RRrCB


23. Assuming full decomposition, the volume of  released at

STP on heating 9.85 g of  (At mass Ba = 137) will be

A. 0.84 L

B. 0.24 L

C. 4.06 L

D. 1.12 L

Answer: D

Watch Video Solution

CO2

BaCO3

24. The number of equivalents of  required for the

volumetric estimation of one equivalent of  is

A. 

N2S2O3

Cu2 +

1

https://dl.doubtnut.com/l/_Pvao6fvIL5hC
https://dl.doubtnut.com/l/_t0o91I8Dh1xE


B. 

C. 

D. 

Answer: B

Watch Video Solution

2

3/2

3

25. In a mole of water vapours at STP, the volume actually

occupied or taken by the molecules (i.e., Avogadro's No.

volume of one molecule) is

A. zero

B. less than 1% of 22.4 litres

C. about 10% of the volume of container

D. 1% to 2% of 22.4 litres

×

https://dl.doubtnut.com/l/_t0o91I8Dh1xE
https://dl.doubtnut.com/l/_zUjrTMUUMkG8


Answer: B

Watch Video Solution

26. Complete combustion of 0.858 g of compound X gives 2.63 g

of  and 1.28 g of O. The lowest molecular mass X can have

A. 43 g

B. 86 g

C. 129 g

D. 172 g

Answer: A

Watch Video Solution

CO2 H2

https://dl.doubtnut.com/l/_zUjrTMUUMkG8
https://dl.doubtnut.com/l/_WBrfAlBbm63z


27. An organic compound contains 49.3% carbon. 6.84% hydrogen

and its vapour density is 73. Molecular formula of compound is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C3H5O2

C6H10O4

C3H10O2

C4H10O2

28. In the following reaction, which choice has value twice that of

the equivalent mass of the oxidising agent 

SO2 + H2O → 3S + 2H2O

https://dl.doubtnut.com/l/_762NkK5A2M62
https://dl.doubtnut.com/l/_GLZ9WO0hxgfC


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

64

32

16

48

29. Vapour density of a gas is 22. What is its molecular mass?

A. 

B. 

C. 

D. 

33

22

44

11

https://dl.doubtnut.com/l/_GLZ9WO0hxgfC
https://dl.doubtnut.com/l/_uorVmd3BC35y


Answer: C

Watch Video Solution

30. The empirical formula of an acid is , the probable

molecular formula of acid may be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH2O2

CH2O

CH2O2

C2H4O2

C4H6O4

https://dl.doubtnut.com/l/_uorVmd3BC35y
https://dl.doubtnut.com/l/_UtMNeHUpQfGc


31. 1.5 mol of  combine with Mg to form oxide MgO. The mass

of Mg (at mass 24) that has combined is

A. 72g

B. 36g

C. 48g

D. 24g

Answer: A

Watch Video Solution

O2

32. The mass of  of  gas at STP is

A. 0.16 g

B. 0.8 g

112cm3 CH4

https://dl.doubtnut.com/l/_DXMv6sSkNUnD
https://dl.doubtnut.com/l/_Mfbo1ho93ZIS


C. 0.08 g

D. 1.6 g

Answer: C

Watch Video Solution

33. The volume of water to be added to  of 0.5 

to get decinormal concentration is

A. 

B. 

C. 

D. 

Answer: A

W h Vid S l i

100cm3 NH2SO4

400cm3

500cm3

450cm3

100cm3

https://dl.doubtnut.com/l/_Mfbo1ho93ZIS
https://dl.doubtnut.com/l/_tkW3YTVMITc8


Watch Video Solution

34. The reaction of calcium with water is represented by the

equation 

 


What volume of , at STP would be liberated when 8 g of

calcium completely reacts with water

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ca + 2H2O → Ca(OH)2 + H2

H2

4480cm3

2240cm3

1120cm3

0.4cm3

https://dl.doubtnut.com/l/_tkW3YTVMITc8
https://dl.doubtnut.com/l/_nFY7uHTWXYg2
https://dl.doubtnut.com/l/_dwHCw51iAz4b


35. Among the following pairs, the one which illustrates the law

of multiple proportion is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH3, HCl

H2S, SO2

CuO, Cu2O

CS2, FeSO4

36. Mixture of sand and sulphur may best be separated by

A. Fractional crystallisation from aqueous solution

B. Magnetic method

https://dl.doubtnut.com/l/_dwHCw51iAz4b
https://dl.doubtnut.com/l/_B6vPstHqphR4


C. Fractional distillation

D. Sublimation

Answer: B

Watch Video Solution

37. The set of numerical coefficients that balances the chemical

equation 

A. 

B. 

C. 

D. 

K2CrO4 + HC < oK2Cr2O7 + KCl + H2O

1, 1, 2, 2, 1

2, 2, 1, 1, 1

2, 1, 1, 2, 1

2, 2, 1, 2, 1

https://dl.doubtnut.com/l/_B6vPstHqphR4
https://dl.doubtnut.com/l/_jRgcUuvvMBQT


Answer: D

Watch Video Solution

38. 0.126 g of acid required 20 mL of 0.1 N NaOH for complete

neutralisation. The equivalent mass of an acid is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

45

53

40

63

https://dl.doubtnut.com/l/_jRgcUuvvMBQT
https://dl.doubtnut.com/l/_14PP0XekxobX


39. Which law directly explains the law of conservation of mass?

A. Dalton's law

B. Avogadro's law

C. Berzelius law

D. Hund's rule

Answer: A

View Text Solution

40. Molarity of liquid HCl with density equal to 1.17g/cc is

A. 

B. 

C. 

36.5

18.25

32.05

https://dl.doubtnut.com/l/_1tVnXuDOuOWf
https://dl.doubtnut.com/l/_7p3liOfYyVgJ


D. 

Answer: C

Watch Video Solution

4.65

41. The modern atomic weight scale is based on

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C 12

O16

H 1

C 13

https://dl.doubtnut.com/l/_7p3liOfYyVgJ
https://dl.doubtnut.com/l/_cxndk4F9QdyZ
https://dl.doubtnut.com/l/_GT98NrGexsgM


42. The prefix  is

A. giga

B. exa

C. kilo

D. nano

Answer: B

Watch Video Solution

1018

43. Difference in density is the basis of

A. Ultrafiltration

B. Molecular sieving

C. Gravity separation

https://dl.doubtnut.com/l/_GT98NrGexsgM
https://dl.doubtnut.com/l/_EKA1K5AMMfy7


D. Molecular attraction

Answer: C

Watch Video Solution

44. A mixture of sand and iodine can be separated by

A. Crystallisation

B. Sublimation

C. Distillation

D. Fractional Distillation

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_EKA1K5AMMfy7
https://dl.doubtnut.com/l/_byt4DAQlDSZR
https://dl.doubtnut.com/l/_T2UGbwP58lAY


45. Irrespective of the source, pure sample of water always yeilds

88.89% mass of oxygen and 11.11% mass of hydrogen. This is

explained by the law of

A. conservation of mass

B. constant composition

C. multiple proportions

D. constant volume

Answer: B

Watch Video Solution

46. How many atoms are contained in one mole of sucrose

?

A.  atoms/mole

(C12H22O11)

45 × 6.02 × 1023

https://dl.doubtnut.com/l/_T2UGbwP58lAY
https://dl.doubtnut.com/l/_1lA6ko0SMxjb


B. atoms/mole

C.  atoms/mole

D. None of these

Answer: A

Watch Video Solution

5 × 6.62 × 1023

5 × 6.02 × 1023

47. The weight of one molecule of a compound  is

A. g

B. g

C. g

D. g

Answer: D

C60H12

1.3 × 10− 20

5.01 × 10− 21

3.72 × 1023

1.4 × 10− 21

https://dl.doubtnut.com/l/_1lA6ko0SMxjb
https://dl.doubtnut.com/l/_UYynBi9XAv61


Watch Video Solution

48. A compound possesses 8% sulphur by mass. The least

molecular mass is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

200

400

155

355

49. Number of atoms in    is:558.5 g Fe(at. wt.55.85)

https://dl.doubtnut.com/l/_UYynBi9XAv61
https://dl.doubtnut.com/l/_Buw8uR8eUJpf
https://dl.doubtnut.com/l/_GIgFmQxf2bcV


A. twice that in 60g carbon

B. 

C. half that in 8 g of He

D. 

Answer: A

Watch Video Solution

6.022 × 102

558.5 × 6.022 × 1023

50. Accurate determination of atomic masses is done with the

instrument called as

A. spectrophotometer

B. mass spectrometer

C. atomic absorption spectrometer

D. calorimeter

https://dl.doubtnut.com/l/_GIgFmQxf2bcV
https://dl.doubtnut.com/l/_8IG2aPNHNEWD


Answer: B

Watch Video Solution

51. To differentiat between C-12, C-13 and C-14 the instrument that

you would use is

A. infra-red spectrometer

B. atomic absorption spectrometer

C. mass spectrometer

D. ultraviolet spectrometer

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_8IG2aPNHNEWD
https://dl.doubtnut.com/l/_XO4XCNXfvXjr


52. 32 g , 2g  and 28 g  at S.T.P. occupy separately a

volume of

A. 1L

B. 2L

C. 22.4 L

D. 2.24 L

Answer: C

Watch Video Solution

O2 H2 N2

53. 0.56 g of a gas occupies  at N.T.P., then its molecular

mass is

A. 

280cm3

4.8

https://dl.doubtnut.com/l/_sZ63mWU6qILJ
https://dl.doubtnut.com/l/_ZWoOJNNdwEQz


B. 

C. 

D. 

Answer: B

Watch Video Solution

44.8

2

22.4

54. The equivalent mass of Fe in FeO is

A. 

B. 

C. 

D. 

Answer: B

56

28

36

18.66

https://dl.doubtnut.com/l/_ZWoOJNNdwEQz
https://dl.doubtnut.com/l/_rCr9ob1Nb0y4


Watch Video Solution

55. Which one of the following is ambiguous ?

A. A mole of electrons

B. A mole of sodium atoms

C. A mole of potassium ions

D. A mole of hydrogen

Answer: D

Watch Video Solution

56. Chemical equations convey quantitative information on the

A. type of atoms/molecules taking part in the reaction

https://dl.doubtnut.com/l/_rCr9ob1Nb0y4
https://dl.doubtnut.com/l/_DRgkTCKIJ4lU
https://dl.doubtnut.com/l/_nOApse4bYO7g


B. number of atoms/molecules of the reac-tants and products

involved in the reaction

C. relative number of moles in the reaction

D. quantity of reactant consumed and quantity of product

envolved

Answer: C

Watch Video Solution

57. X litres of carbon monoxide is present at S.T.P. It is completely

oxidised to . The volume of  formed is 11.207 L at S.T.P.

What is the value of X in litres?

A. 22.414 L

B. 11.207 L

CO2 CO2

https://dl.doubtnut.com/l/_nOApse4bYO7g
https://dl.doubtnut.com/l/_3v0MTFEvfH5C


C. 5.6035L

D. 44.828 L

Answer: B

Watch Video Solution

58. One mole of fluorine is reacted with two moles of hot and

concentrated KOH. The product formed are KF,  and . The

molar ratio of  and  is respectively

A. 

B. 

C. 

D. 

H2O O2

KF , H2O O2

1: 1: 2

2: 1: 0.5

1: 2: 1

2: 1: 2

https://dl.doubtnut.com/l/_3v0MTFEvfH5C
https://dl.doubtnut.com/l/_00YXrDEn9HSC


Answer: B

Watch Video Solution

59. 0.078 g of a hydrocarbon occupy 22.414 mL of volume at S.T.P.

The empirical formula of the hydrocarbon is CH. The molecular

formula of hydrocarbon is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C2H2

C6H6

C8H8

C4H4

https://dl.doubtnut.com/l/_00YXrDEn9HSC
https://dl.doubtnut.com/l/_xA7xFaemDc8f
https://dl.doubtnut.com/l/_Z23gi9nR9sME


60. Two grams sulphur is completely burnt in oxygen to form

. In this reaction, what is the volume (in litres) of oxygen

consumed at S.T.P. ?(at mass of S and O are 32 and 16

respectively)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SO2

16

22.414

22.414

16

22.414

32

32

22.414

61. In the Haber process,  of dhyrgen and  of dintrogen

were taken for reaction which yielded only  of the expectedf

30L 30L

50 %

https://dl.doubtnut.com/l/_Z23gi9nR9sME
https://dl.doubtnut.com/l/_VUrPaR4FVdNK


product. What will be the xomposition of the gaseous mixturre

under the aforesaid condition in the end?

A. 20 L of ammonia, 25 L of nitrogen, 15 L of hydrogen

B. 20 L of ammonia, 20L of nitrogen, 20 L hydrogen

C. 10L of ammonia, 25 L of nitrogen, 15 L of hydrogen

D. 20L of ammonia, 10 L of nitrogen, 30 L of hydrogen

Answer: C

Watch Video Solution

62. 25 mL of a solution of barium hydroxide on titration with 0.1

molar solution of hydrochloric acid gave a titre value of 35 mL.

The molarity of barium hydroxide solution was

A. 0.07

https://dl.doubtnut.com/l/_VUrPaR4FVdNK
https://dl.doubtnut.com/l/_xEdffTJqyn1G


B. 

C. 

D. 

Answer: A

Watch Video Solution

0.14

0.28

0.35

63. What volume of hydrogen gas at 273 K and 1 atm. Pressure

will be consumed in obtaining 21.6 g elemental boron (Atomic

mass=10.8) from the reduction of boron trichloride by hrogen?

A. 

B. 

C. 

D. 

89.6L

67.2L

44.8L

22.4L

https://dl.doubtnut.com/l/_xEdffTJqyn1G
https://dl.doubtnut.com/l/_dhja5aeYTaok


Answer: B

Watch Video Solution

64. A signature written with carbon pencil weighs 1 mg. What is

the number of carbon atoms present in the signature?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

6.02 × 1020

0.502 × 1020

5.02 × 1023

5.02 × 1020

https://dl.doubtnut.com/l/_dhja5aeYTaok
https://dl.doubtnut.com/l/_jCjkj9tczYej


65. The equivalent weight of a certain trivalent element is 20.

Molecular weight of its oxide is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

168

68

152

56

66. . The ration of Mg used to 

produced by weight is

A. 

Mg + 2HCl → MgCl2 + H2 H2

1: 12

https://dl.doubtnut.com/l/_iguW7rciW4eD
https://dl.doubtnut.com/l/_UMKnWjNTjjhq


B. 

C. 

D. 

Answer: B

Watch Video Solution

12: 1

24: 1

1: 6

67. There are two isotopes of an element with atomic mass z.

Heavier on has atomic mass z+2 and lighter one has z-1, then

abundance of lighter one is

A. 

B. 

C. 

D. 

66.6 %

96.7 %

6.67 %

33.3 %

https://dl.doubtnut.com/l/_UMKnWjNTjjhq
https://dl.doubtnut.com/l/_SVVp7aKY5ywS


Answer: A

Watch Video Solution

68. A metal M of equivalent mass E forms an oxide of molecular

formula . The atomic mass of the metal is given by the

correct equation.

A. 2E(y/x)

B. xy/E

C. E/y

D. E/2(x/y)

Answer: A

Watch Video Solution

MxOy

https://dl.doubtnut.com/l/_SVVp7aKY5ywS
https://dl.doubtnut.com/l/_BQ9GbwZ5RpzF
https://dl.doubtnut.com/l/_KnIon8McwVU2


69. In an acidic medium dichromate ion oxidises ferrous ion to

ferric ion. If the gram molecular mass of potassium dichromate is

294 g, its gram equivalent mass is........ Grams.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

294

127

49

24.5

70.  is the symbol of ...... Ion

A. oxide

O2 +
2

https://dl.doubtnut.com/l/_KnIon8McwVU2
https://dl.doubtnut.com/l/_nxNJs77o3Pn2


B. superoxide

C. peroxide

D. monoxide

Answer: C

Watch Video Solution

71. In a balanced equation 

 


The values of x,y,z are

A. 

B. 

C. 

D. 

H2SO4 → xHI → H2S + yI2 + zH2O

x = 3, y = 5, z = 2

x = 4, y = 8, z = 5

x = 8, y = 4, z = 4

x = 5, y = 3, z = 4

https://dl.doubtnut.com/l/_nxNJs77o3Pn2
https://dl.doubtnut.com/l/_CPcN8XkjVoFv


Answer: C

Watch Video Solution

72. Empirical formula of a compound is  and its molecular

mass is 90. The molecular formula of the compound is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH2O

C2H4O2

C3H6O3

C4H8O4

CH2O

https://dl.doubtnut.com/l/_CPcN8XkjVoFv
https://dl.doubtnut.com/l/_my73z2lrQDfW


73. The coefficient of viscosity  of a fluid moving steadily

between two surfaces is given by the formula,  


where f is the frictional force on the fluid, A is an area in the fluid

and  is the velocity gradient inside the fluid at that area.

The SI unit of viscosity coefficient  is given as.

A. 

B. 

C. Nil, it is dimensionless constant

D. newtons

Answer: A

Watch Video Solution

n

f = nA
dV

dx

dV /dx

n

kgm− 1s− 1

Nm− 2s− 2

https://dl.doubtnut.com/l/_6oZugyUucXjy


74. 2g of aluminium is treated, separately with excess of dilute

, and excess of , the ratio of volumes of hydrogen

evolved is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2SO4 NaOH

1: 1

2: 3

1: 2

2: 1

75. 

The above equation balances when

aK2Cr2O7 + bKCl + cH2SO4 → xCrO2Cl2 + yKHSO4 + zH2

https://dl.doubtnut.com/l/_50IBuG7sPR2w
https://dl.doubtnut.com/l/_DoqWTEFfqnNZ


A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

View Text Solution

a = 2, b = 4, c = 6 x = 2, y = 6, z = 3

a = 4, b = 2, c = 6 x = 6, y = 2, z = 2

a = 6, b = 4, c = 2 x = 2, y = 3, z = 2

a = 1, b = 4, c = 6 x = 2, y = 6, z = 3

76. Which of the following contains maximum number of

molecules?

A. 100 cc of  at S.T.P.

B. 150 cc of  at S.T.P.

C. 50 cc of  at S.T.P.

D. 150 cc of  at S.T.P

CO2

N2

SO2

O2

https://dl.doubtnut.com/l/_DoqWTEFfqnNZ
https://dl.doubtnut.com/l/_DnhIBkblHAkC


Answer:

View Text Solution

77. The numerical value of N/n (where N is the number of

molecules in a give sample of gas and n is the number of moles

of gas) is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

8.314

6.02 × 1023

0.0821

1.66 × 10− 19

https://dl.doubtnut.com/l/_DnhIBkblHAkC
https://dl.doubtnut.com/l/_U77IgmmFnNIC
https://dl.doubtnut.com/l/_BWpEgqhIHSsj


78. The mass of 11.2 L of ammonia gas at S.T.P. is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

8.5g

85g

17g

1.7g

79. A sample of phosphorus trichloride  contains 1.4 moles

of the substances. How many atoms are there in the sample?

A. 

B. 

(PCl3)

4

5.6

https://dl.doubtnut.com/l/_BWpEgqhIHSsj
https://dl.doubtnut.com/l/_zGh5g02wSqEh


C. 

D. 

Answer: D

View Text Solution

8.431 × 1023

3.373 × 1024

80. A mixture of  and  has a vapor density of  at

300 K. What is the number of moles of  in 100 g of

themixture ?

A. 

B. 

C. 

D. 

NO2 N2O4 38.3

NO2

0.043

4.4

3.4

3.68

https://dl.doubtnut.com/l/_zGh5g02wSqEh
https://dl.doubtnut.com/l/_nRsPIBXA2bol


Answer:

Watch Video Solution

81. A gaseous mixture contains 50% helium and 50% methane by

volume. What is the percent by weight of methane in the

mixture?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

19.97 %

20.05 %

50 %

75 %

https://dl.doubtnut.com/l/_nRsPIBXA2bol
https://dl.doubtnut.com/l/_9VlpTGbV40o6
https://dl.doubtnut.com/l/_Ix17IXpYvHkZ


82. What is the equivalent mass of  when it is converted into

 in acid medium ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

IO
−
4

I2

M /6

M /7

M /5

M /4

83. How will you separate a mixture of two gases ?

A. Fractional distillation technique

B. Graham's law of diffusion technique

https://dl.doubtnut.com/l/_Ix17IXpYvHkZ
https://dl.doubtnut.com/l/_7WWIZKShD1f4


C. Osmosis

D. Chromatography

Answer: B

View Text Solution

84. 4.4 g of  contains how many litres of  at S.T.P

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

CO2 CO2

2.4L

2.24L

44L

22.4L

https://dl.doubtnut.com/l/_7WWIZKShD1f4
https://dl.doubtnut.com/l/_bFyWyT2UrKyz


85. What is the net charge on ferrous ion?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

+2

+3

+4

+5

86. The maximum number of molecules is present in

A. 10 g of  gas

B. 15L of  gas at S.T.P.

O2

H2

https://dl.doubtnut.com/l/_bFyWyT2UrKyz
https://dl.doubtnut.com/l/_u8htoGXpwPJP
https://dl.doubtnut.com/l/_dt2CaDn6NA80


C. 5L of  gas at S.T.P.

D. 0.5 g of  gas

Answer: B

View Text Solution

N2

H2

87.  molecules of urea are present in 100 L of his

solution. The concentration of urea solution is

A. 0.001 M

B. 0.1 M

C. 0.02 M

D. 0.01 M

Answer: D

Vi T S l i

6.0 × 1020

https://dl.doubtnut.com/l/_dt2CaDn6NA80
https://dl.doubtnut.com/l/_h45gyk3DM0sk


View Text Solution

88. one gram mole of a gas at N.T.P. occupies 22.4 L. This fact was

derived from

A. Law of gaseous volumes

B. Avogadro's hypothesis

C. Berzerlius hypothesis

D. Dalton's hypothese

Answer: B

View Text Solution

89. Volume of 0.1 M  required to oxidise 35 mL of 0.5 M

Fe  solution is

K2Cr2O7

SO4

https://dl.doubtnut.com/l/_h45gyk3DM0sk
https://dl.doubtnut.com/l/_2LvYS6NDdP4T
https://dl.doubtnut.com/l/_7Ki62U5oDdH9


A. 29.2 mL

B. 17.5 mL

C. 175 mL

D. 145 mL

Answer: A

View Text Solution

90. Number of atoms of oxygen present in 10.6 g of  will

be

A. 

B. 

C. 

D. 

Na2CO3

6.02 × 1022

12.04 × 1022

1.806 × 1023

31.80 × 1028

https://dl.doubtnut.com/l/_7Ki62U5oDdH9
https://dl.doubtnut.com/l/_fR9gunjDYbM1


Answer: C

View Text Solution

91. For decolourisation of , the moles of 

required is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1mol ofKMnO4 H2O2

1/2

3/2

5/2

7/2

https://dl.doubtnut.com/l/_fR9gunjDYbM1
https://dl.doubtnut.com/l/_5Hk6Qr203Cbl


92. A solution contain hydrochloric acid molecules

in one of the solution . The strength of the solution is

A. 6N

B. 2N

C. 4N

D. 8N

Answer: B

Watch Video Solution

1.2046 × 1024

dm3

93. 4g of copper was dissolved in conc. Nitric acid. The copper

nitrate so obtained on strong heating gave 5 g of its oxide. The

equivalent weight of copper is

https://dl.doubtnut.com/l/_A5RyCBppPfgj
https://dl.doubtnut.com/l/_DM6k6Qo07VBw


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

23

32

12

20

94. Dulong and Petit's law is valid only for

A. metals

B. non-metals

C. gaseous elements

D. solid elements

https://dl.doubtnut.com/l/_DM6k6Qo07VBw
https://dl.doubtnut.com/l/_vDQMu4hdgQKi


Answer: D

Watch Video Solution

95. In alkanline medium  oxidises  to  and itself

gets reduced to . How many moles of  are oxidised by 1

mol of ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

ClO2 H2O2 O2

Cl− H2O2

ClO2

1.0

1.5

2.5

3.5

https://dl.doubtnut.com/l/_vDQMu4hdgQKi
https://dl.doubtnut.com/l/_7u7mUysL64rG
https://dl.doubtnut.com/l/_FvCa02rHo1ZE


96. When 32.25 g of ethyl chloride is subjected to

dehydrohalogenation reaction, the yield of alkene formed is 50%.

The mass of the product formed is (at mass of chlorine = 35.5)

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

14g

28g

64.5g

56g

97.  reacts with . On completion of

reaction how much weight of  will be obtain

A. 

100gCaCO3 1litre1NHCl

CO2

5.5g

https://dl.doubtnut.com/l/_FvCa02rHo1ZE
https://dl.doubtnut.com/l/_nH7TcuxD13qE


B. 

C. 

D. 

Answer: C

Watch Video Solution

11g

22g

33g

98. The mass of carbon anode consumed (giving only carbon

dioxide) in the production of 270 kg of aluminium metal from

bauxite by Hall process is

A. 

B. 

C. 

D. 

180kg

270kg

540kg

90kg

https://dl.doubtnut.com/l/_nH7TcuxD13qE
https://dl.doubtnut.com/l/_FxWeZiNoSeCi


Answer: D

View Text Solution

99. If we consider that  in place of , mass of carbon atom is

taken to be the relative atomic mass unit, the mas of one mole of

a substance will

A. decrease twice

B. increase two fold

C. remain unchanged

D. be a function of the molecular mass of substance

Answer: C

Watch Video Solution

1

6

1

12

https://dl.doubtnut.com/l/_FxWeZiNoSeCi
https://dl.doubtnut.com/l/_KpYoM3HyUXlg
https://dl.doubtnut.com/l/_0z4tZ8qTIVD6


100. How will you separate a solution (miscible) of benzene +

?

A. Sublimation

B. Filtration

C. Distillation

D. Crystallisation

Answer: C

View Text Solution

CHCl3

101. If 30 mL of  and 20 mL of  reacts to form water, what is

left at the end of the reaction?

A. 10 mL of 

H2 O2

H2

https://dl.doubtnut.com/l/_0z4tZ8qTIVD6
https://dl.doubtnut.com/l/_7Q9hwv2FhOHh


B. 5 mL of 

C. 10 mL of 

D. 5 mL of 

Answer: D

View Text Solution

H2

O2

O2

102. For the formation of 3.65 g of hydrogen chloride gas, what

volume of hydrogen and chlorine gas are required to N.T.P.

conditions?

A. 1.12L, 1.12L

B. 1.12L, 2.24L

C. 3.65 L, 1.83 L

D. 1L, 1L

https://dl.doubtnut.com/l/_7Q9hwv2FhOHh
https://dl.doubtnut.com/l/_1CEOoWSb1Gra


Answer: A

View Text Solution

103. An alkaloid contains 17.28% of nitrogen and its molecular

mass is 162. The number of nitrogen atoms present in on

molecule of alkaloid is

A. five

B. four

C. three

D. two

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_1CEOoWSb1Gra
https://dl.doubtnut.com/l/_nSOsJ3mwjvw3
https://dl.doubtnut.com/l/_yo4oUuoB0rYG


104. x' grams of calcium carbonate was completely burnt in air.

The weight of the solid residue formed is 28 g. what is the value

of 'x' in grams?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

44

200

150

50

105. The decomposition of a certain mass of  gave 

 of a  at S.T.P. The mass of KOH required to

completely neutralize the gas is

CaCO3

11.2dm3 CO2

https://dl.doubtnut.com/l/_yo4oUuoB0rYG
https://dl.doubtnut.com/l/_aONZFzSyz4zi


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

56g

28g

42g

20g

106. 4 moles each of  and  gases are allowed to react to

form  in a closed vessel. At equilibrium, 25% of  is used up.

The total number of moles of all the gases at equilibrium is

A. 

B. 

C. 

SO2 O2

SO3 O2

6.5

7.0

8.0

https://dl.doubtnut.com/l/_aONZFzSyz4zi
https://dl.doubtnut.com/l/_bZ3kdW9HS6D0


D. 

Answer: B

View Text Solution

2.0

107. Which among the following is the heaviest?

A. one mole of oxygen

B. one molecule of sulphur dioxide

C. 100 a.m.u. of uranium

D. ten moles of hydrogen

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bZ3kdW9HS6D0
https://dl.doubtnut.com/l/_z2FK0VQ93Okn
https://dl.doubtnut.com/l/_e8QImczPwbfY


108.  of the hydroxide of a metal on ignition gave  of

oxide. The equivalent weight of metal is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1.520g 0.995g

1.52

0.995

190

9

109. The number of gram atoms of oxygen in 

molecules is

A. 

B. 

0.2 × 1024CO

1

0.5

https://dl.doubtnut.com/l/_e8QImczPwbfY
https://dl.doubtnut.com/l/_LWmxutTcxfJT


C. 

D. 

Answer: D

View Text Solution

5

9

110. 500 mL of  contain  molecules at a certain

temperature and pressure. How many molecules are present in

100 mL of  at same temperature and pressure?

A. 

B. 

C. 

D. None of these

NH3 6.00 × 1023

CO2

6 × 1023

1.5 × 1021

1.2 × 1023

https://dl.doubtnut.com/l/_LWmxutTcxfJT
https://dl.doubtnut.com/l/_xRiKYIFTUiyt


Answer: C

Watch Video Solution

111. In the reaction, ,

when 1 mole of ammonia and 1 mole of  are made to react to

completion

A. 1.0 mole of  is produced

B. all the oxygen is consumed

C. 1.5 mole of  is formed

D. all ammonia is consumed

Answer: B

Watch Video Solution

4NH3(g) + 5O2(g) → 4NO(g) + 6H2O(g)

O2

H2O

NO

https://dl.doubtnut.com/l/_xRiKYIFTUiyt
https://dl.doubtnut.com/l/_nl5WkVMJCdet
https://dl.doubtnut.com/l/_V9p1sWkxQsgY


112. The crystalline salt  on heating loses 55.9 %

of its weight. The formula of the crystalline salt is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na2SO4. xH2O

Na2SO4.5H2O

Na2SO4.7H2O

Na2SO4.2H2O

Na2SO4.10H2O

113. 10 litres of  gas is reacted with 30 litres of CO at S.T.P. The

volumes of each gas present at the end of the reaction are

A.  litres,  litres

O2

CO = 10 CO2 = 20

https://dl.doubtnut.com/l/_V9p1sWkxQsgY
https://dl.doubtnut.com/l/_jlhBW5fmgW20


B.  litres,  litres

C.  litres,  lites

D.  litres,  litres

Answer: A

Watch Video Solution

O2 = 10 CO = 30

CO = 20 CO2 = 10

O2 = 10 CO2 = 20

114. 0.3 g of an acid is neutralized by  of 0.125 N NaOH.

Equivalent mass of the acid is

A. 

B. 

C. 

D. 

40cm3

60

45

30

63

https://dl.doubtnut.com/l/_jlhBW5fmgW20
https://dl.doubtnut.com/l/_oBgYSwxb1d5n


Answer: A

Watch Video Solution

115.  of a carbonhydrate with empirical formula 

contains  of hydrogen. What is its molecular formula?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.1mol CH2O

1g

C5H10O5

C6H12O6

C4H8O4

C3H6O3

https://dl.doubtnut.com/l/_oBgYSwxb1d5n
https://dl.doubtnut.com/l/_k4qslqyI5pjm


116. The percentage of element M is 53 in its oxide of molecular

formula . Its atomic mass is about

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

M2O3

45

9

18

36

117. 80 g of oxygen contains as many atoms as in

A. 10 g of hydrogen

B. 5 g of hydrogen

https://dl.doubtnut.com/l/_mDkeg0A6lXjP
https://dl.doubtnut.com/l/_nt9wL2jLDlpf


C. 80 g of hydrogen

D. 1g of hydrogen

Answer: B

Watch Video Solution

118. An unknown element forms an oxide. What will be the

equivalent weight of the element if the oxygen content is 20% by

weight?

A. 

B. 

C. 

D. 

16

32

8

64

https://dl.doubtnut.com/l/_nt9wL2jLDlpf
https://dl.doubtnut.com/l/_xonqoKgjF7t5


Answer: B

Watch Video Solution

119. The number of significant figures in 10.3106 g is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2

3

1

4

https://dl.doubtnut.com/l/_xonqoKgjF7t5
https://dl.doubtnut.com/l/_QjzmVLtv5z80


120. What volume of oxygen gas  measured at  and 1

atm is needed to burn completely  of propane gas 

measured under the same condition?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(O2) 0∘C

1L (C3H8)

5L

10L

7L

6L

121. 10 g of hydrogen and 64 g of oxygen were filled in a steel

vessel and exploded. Amount of water produced in this reaction

will be

https://dl.doubtnut.com/l/_F1kxMYKcOEwm
https://dl.doubtnut.com/l/_AEyh8ShVBAom


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3mol

4mol

1mol

2mol

122. An organic compound made up of , and  contains 

. The molecular mass of the organic compound is

A. 

B. 

C. 

D. 

C, H N

20 % N

70

140

100

65

https://dl.doubtnut.com/l/_AEyh8ShVBAom
https://dl.doubtnut.com/l/_ftGNSuHfIKM1


Answer: A

Watch Video Solution

123. Given that the abundacne of isotopes , , and 

 is 5%, 90% and 5% respectively. The atomic mass of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

.54 Fe .56 Fe

.57 Fe Fe

55.85

55.95

55.75

56.05

https://dl.doubtnut.com/l/_ftGNSuHfIKM1
https://dl.doubtnut.com/l/_CEcex0aRuBDV


124. A bivalent metal has an equivalent mass of 32. The molecular

mass of the metal nitrate is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

168

192

188

182

125.  of phosphine  on hearing forms phosphorous 

 and hydrogen . The volume change in the reaction is

A. an increase of 50 mL

100mL (PH3)

(P ) (H2)

https://dl.doubtnut.com/l/_D7ktCOiAKaIZ
https://dl.doubtnut.com/l/_41G2rLLxDfeR


B. an increase of 110 mL

C. an increase of 150 mL

D. a decrease of 50 mL

Answer: A

Watch Video Solution

126.  of a carbonhydrate with empirical formula 

contains  of hydrogen. What is its molecular formula?

A. 

B. 

C. 

D. 

0.1mol CH2O

1g

C5H10O5

C6H12O6

C4H8O2

C2H4O2

https://dl.doubtnut.com/l/_41G2rLLxDfeR
https://dl.doubtnut.com/l/_iMmpjVYEfKI6


Answer: A

Watch Video Solution

127. How many moles of lead (II) chloride will be formed from a

reaction between 6.5 g of PbO and 3.2 g of HCl?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0.044

0.333

0.011

0.029

https://dl.doubtnut.com/l/_iMmpjVYEfKI6
https://dl.doubtnut.com/l/_WOBv1trrv3KK


128. Express of  is passed through 50 mL of 0.5 M calcium

hydroxide solution. After the completion of the reaction, the

solution was evaporated to dryness. The solid calcium

carbonated was completely neutralized with 0.1 N hydrochloric

acid. The volume of hydrochloric acid required is (At mass of

carbon = 40)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CO2

200mL

500mL

400mL

300mL

https://dl.doubtnut.com/l/_XPcjYb69YvE0


129. In the reaction of sodium thiosulphate with  in aqueous

medium, the equivalent mass of sodium sulphate

A. molar mass of sodium thiosulphate

B. the average of molecular masses of  and 

C. half the molecular mass of sodium thiosulphate

D. molar pass of sodium sulphate 

Answer: C

Watch Video Solution

I2

Na2S2O3 I2

X2

130. Which of the following sets of compounds correctly ltbr.

Illustrate the law of reciprocal proportions?

A. P2O3, PH3, H2O

https://dl.doubtnut.com/l/_xv2FEEaesNrP
https://dl.doubtnut.com/l/_miUjKsHCoyI6


B. 

C. 

D. 

Answer: A

Watch Video Solution

P2O5, PH3, H2O

N2O5, NH3, H2O

N2O, NH3, H2O

131. The mass of  of a gas is 4.4 g at 273.15 K and

101.325 Kpa pressure. The gas may be

A. 

B. 

C. 

D. 

2.24 × 10− 3m3

NO

NO2

C3H8

NH3

https://dl.doubtnut.com/l/_miUjKsHCoyI6
https://dl.doubtnut.com/l/_TJIDbRk0N9lO


Answer: C

Watch Video Solution

132. The total number of atoms of all elements present in mole of

ammonium dichromate is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

19

6.023 × 1023

114.473 × 1023

84.322 × 1023

https://dl.doubtnut.com/l/_TJIDbRk0N9lO
https://dl.doubtnut.com/l/_tVBTfrb8XARS


133. If  ml of water contains  drops. Then no. of molecules in a

drop of water is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 20

6.023 × 1023

1.376 × 1026

1.673 × 1021

4.346 × 1020

134. 25.3 g of sodium carbonate,  is dissolved in enough

water to make 250 mL of solution. If sodium carbonate

dissociates completely, molar concentration of sodium ions,

Na2CO3

https://dl.doubtnut.com/l/_00AMNUfU9Fuz
https://dl.doubtnut.com/l/_SsLLPs2qX9HA


 and carbonate ions,  are respectively (Molar mass of 

)

A. 0.477 M and 0.477 M

B. 0.955 M and 1.910 M

C. 1.910 M and 0.955 M

D. 1.90 M and 1.910 M

Answer: C

Watch Video Solution

Na+ CO2 −
3

NaCO3 = 106gmol− 1

135. The number of molecules in 100 mL of 0.02  is:

A. 

B. 

C. 

NH2SO4

6.02 × 1022

6.02 × 1021

6.02 × 1020

https://dl.doubtnut.com/l/_SsLLPs2qX9HA
https://dl.doubtnut.com/l/_v1C2t9doT0p5


D. 

Answer: C

Watch Video Solution

6.02 × 1018

136. For reaction . The amount of C formed by

starting the reaction with 5 mole of A and 8 mole of B is :

A. 5 moles

B. 8 moles

C. 16 moles

D. 4 moles

Answer: D

Watch Video Solution

A + 2B → C

https://dl.doubtnut.com/l/_v1C2t9doT0p5
https://dl.doubtnut.com/l/_hKimJ1bp89MS


137. A mixture of ethane and ethene occupies 41 L at atm and 500

K. The mixture reacts compeletly with 10/3 mole of oxygen to

produce  and water. The mole fraction of ethane and ethene

in the mixture are (R=0.0821L atm  respectively

A. 0.50, 0.50

B. 0.75, 0.25

C. 0.67, 0.33

D. 0.25, 0.75

Answer: C

Watch Video Solution

CO2

K − 1mol− 1

138. A mixture of  and NaCl weighing 4.44 is treated with

sodium carbonate solution to precipitate all the  ions as

CaCl2

Ca2 +

https://dl.doubtnut.com/l/_q71ChfX2I59J
https://dl.doubtnut.com/l/_97ZBF6EqyVas


calcium carbonate. The calcium carbonate so obtained is heated

strongly to get 0.56 g of . The percentage of NaCl in the

mixture of (atomic mass of Ca=40) is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CaO

75

30.6

25

69.4

139. Which has the maximum number of molecules among the

following

A. 44g of CO2

https://dl.doubtnut.com/l/_97ZBF6EqyVas
https://dl.doubtnut.com/l/_c2GBOHhFkrsz


B. 48g of 

C. 8g 

D. 64g 

Answer: C

Watch Video Solution

O2

H2

SO2

140. The mole fraction of the solute in one molal aqueous

solution is:

A. 

B. 

C. 

D. 

0.1770

0.0177

0.0344

1.770

https://dl.doubtnut.com/l/_c2GBOHhFkrsz
https://dl.doubtnut.com/l/_jsbre0Nuo5Z3


Answer: B

Watch Video Solution

141. Arrange the following in the order of increasing mass (at.

Mass of O=16, Cu=63, N=14) 

(I) one atom of oxygen (II) one atom of nitrogen 

(III)  mole of oxygen (IV)  mole of copper

A. II lt I lt III lt IV

B. I lt II lt III lt IV

C. III lt II lt IV lt I

D. IV lt II lt III lt I

Answer: A

Watch Video Solution

1 × 10− 10 1 × 10− 10

https://dl.doubtnut.com/l/_jsbre0Nuo5Z3
https://dl.doubtnut.com/l/_tvP7nDh5RtIM


142. 2g of metal carbonate is neutralized by 100 mL of 0.1 N HCl.

The equivalent weight of metal carbonate is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

50

100

150

200

143. In acidic medium, equivalent weight of  (molecular

weight ) is

A. 

K2Cr2O7

= M

M /3

https://dl.doubtnut.com/l/_tvP7nDh5RtIM
https://dl.doubtnut.com/l/_uFHTeNWfdouj
https://dl.doubtnut.com/l/_NWa5cTlLKONY


B. 

C. 

D. 

Answer: C

Watch Video Solution

M /4

M /6

M /7

144. The density of a solution prepared by dissolving 120 g of

urea (mol. Mass=60 u) in 1000 g of water is 1.15 g/mL. The molarity

if this solution is

A. 

B. 

C. 

D. 

1.78M

1.02M

2.05M

0.50M

https://dl.doubtnut.com/l/_NWa5cTlLKONY
https://dl.doubtnut.com/l/_H3YVQwVVMkQo


Answer: C

Watch Video Solution

145. What is the volutme of  liberted in litres at 1

atmosphere and  when 10% of 100 pure calcium carbonate is

treated with excess dilute sulphuric acid? (at mass of Ca=40, C=12,

O=16)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CO2

0∘C

0.224

2.24

22.4

224

https://dl.doubtnut.com/l/_H3YVQwVVMkQo
https://dl.doubtnut.com/l/_Qr5m7OIBasrm


146. Which one of the following is the highest?

A. 0.2 mole of hydrogen gas

B.  molecules of nitrogen

C. 0.1 g of silver

D. 0.1 g mole of oxygen

Answer: C

Watch Video Solution

6.023 × 1022

147. The equivalent mass of a certain bivalent metal is 20. The

molecular mass of its anhydrous chloride is

A. 91

https://dl.doubtnut.com/l/_Qr5m7OIBasrm
https://dl.doubtnut.com/l/_mt70TIpHSQqs
https://dl.doubtnut.com/l/_CsctfvapfTs7


B. 

C. 

D. 

Answer: B

Watch Video Solution

111

55.5

75.5

148. 20 mL of methane is completely burnt using 50 mL of

oxygen. The volume of the gas left after cooling to room

temperature is

A. 80 mL

B. 40 mL

C. 60 mL

D. 30 mL

https://dl.doubtnut.com/l/_CsctfvapfTs7
https://dl.doubtnut.com/l/_g6jT1YIGtGMW


Answer: D

Watch Video Solution

149. A 100% pure sample of a divalent metal carbonate weighing

2g on complete thermal decomposition releases  of carbon

dioxide at STP. The equivalent mass of the metal is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

44gcc

40

20

28

12

https://dl.doubtnut.com/l/_g6jT1YIGtGMW
https://dl.doubtnut.com/l/_oHbZgCFBQTlR
https://dl.doubtnut.com/l/_KpQ0mdJZtBGL


Selected Stright Objective Type Mcqs

150. The mole fraction of methanol in its 4.5 molal acqueous

solution is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0.250

0.125

0.100

0.075

1. The number of molecules in 11 g of  is same as that inCO2

https://dl.doubtnut.com/l/_KpQ0mdJZtBGL
https://dl.doubtnut.com/l/_HgDCQOZRpt2F


A. 8g of oxygen

B. 16 g of oxygen

C. 7g of CO

D. 3.5 g of CO

Answer: A::C

Watch Video Solution

2. Which of the following is/are mixtures?

A. Iodised salt

B. Bees wax

C. Steam

D. Bronze

https://dl.doubtnut.com/l/_HgDCQOZRpt2F
https://dl.doubtnut.com/l/_Wl3X2LP7TkSB


Answer: A::B::D

Watch Video Solution

3. Which of the following has there significant figures?

A. 

B. 

C. 

D. 

Answer: A::B::D

View Text Solution

6.60 × 10− 30

1.70

0.28

6.02 × 1023

4. Which of the following weighs equal to 32 g

https://dl.doubtnut.com/l/_Wl3X2LP7TkSB
https://dl.doubtnut.com/l/_ENl2QKRBPbiA
https://dl.doubtnut.com/l/_zwzXzb5fwHvc


A. 1 mole of sulphur atoms

B. 1 mole of oxygen atoms

C. 1 mole of carbon dioxide

D. 22.4 L of oxygen at S.T.P.

Answer: A::D

Watch Video Solution

5. Among the species given below which have same mass?

A. 0.1 g-molecule of sulphur dioxide

B. 0.1 g-molecule of 

C. 0.1 g-molecule of dry ice

D. Avogadro number of CO molecules.

N2O

https://dl.doubtnut.com/l/_zwzXzb5fwHvc
https://dl.doubtnut.com/l/_DcwsNLhuaAU7


Answer: B::C

Watch Video Solution

6. Which of the following have the same number of significant

figures ?

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

0.40

4.0

400

0.040

https://dl.doubtnut.com/l/_DcwsNLhuaAU7
https://dl.doubtnut.com/l/_iIh0qrbBz3xe


7. Among the species given below which have same number of

molecules?

A. 3.2 g of 

B. 0.1 mol of 

C. 4.0 g of 

D. 11.2 L of  at S.T.P.

Answer: A::B::D

Watch Video Solution

O2

NH3

He

Cl2

8. A solution is prepared by dissolving 5.3 g of  in 250 

 of solution. The solution can be described as

A. Decinormal solution

Na2CO3

cm3

https://dl.doubtnut.com/l/_Ir6fqlQWlUNa
https://dl.doubtnut.com/l/_cAfscIp9l9w9


B. Decimolar solution

C. 0.4 N solution

D. 0.2 M solution

Answer: C::D

Watch Video Solution

9. Mass of  electrons is

A. 0.55 mg

B. 55 mg

C. 

D. g

Answer: A::C

6.02 × 1023

5.5 × 10− 4g

9.8 × 10− 31

https://dl.doubtnut.com/l/_cAfscIp9l9w9
https://dl.doubtnut.com/l/_HmIKXCouN6px


Watch Video Solution

10. Which among the following pairs contains isomorphous

substances?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

FeSO4.7H2O CuSO4.5H2O

FeSO4.7H2O MnSO4.4H2O

FeSO4.7H2O ZnSO4.7H2O

CuSO4.5H2O MnSO4.4H2O

11. The sulphate of a metal M contains 20% of M. This sulphate is

isomorphous with . The atomic mass of M isZnSO4.7H2O

https://dl.doubtnut.com/l/_HmIKXCouN6px
https://dl.doubtnut.com/l/_Fiw15vSw7pYT
https://dl.doubtnut.com/l/_LOsT7jmmWyDL


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

12

24

36

48

12. Which of the following has the largest number of atoms?

A. 0.5 g atoms of Cu

B. 0.635 g of Cu

C. 0.25 moles of Cu atoms

D. 1 g of Cu

https://dl.doubtnut.com/l/_LOsT7jmmWyDL
https://dl.doubtnut.com/l/_DnPH0HaC1kAK


Answer: A

Watch Video Solution

13. 27 g of Al (at. Mass 27) will react completely with oxygen equal

to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

24g

8g

40g

10g

https://dl.doubtnut.com/l/_DnPH0HaC1kAK
https://dl.doubtnut.com/l/_sZTG149FN6nG


14. When  of silver carbonate is strongly heated, it yields a

residue weighing

A. 2.16 g

B. 2.48 g

C. 2.32 g

D. 2.64 g

Answer: A

Watch Video Solution

2.76g

15. Total number of electrons present in 18 mL of water (density

of water is 1 g/mL) is

A. 6.02 × 1023

https://dl.doubtnut.com/l/_NRC5bRuBYzEt
https://dl.doubtnut.com/l/_ppxyOZlHYFvT


B. 

C. 

D. 

Answer: C

Watch Video Solution

6.02 × 1022

6.02 × 1024

6.02 × 1025

16. If  is the molecular weight of , its equivalent

weight will be when it is converted into 

A. 

B. 

C. 

D. 

M KMnO4

K2MnO4

M

M /3

M /5

M /7

https://dl.doubtnut.com/l/_ppxyOZlHYFvT
https://dl.doubtnut.com/l/_v46m0a0ChZUz


Answer: A

Watch Video Solution

17. If 0.50 mol of  is mixed with 0.20 mol of , the

maximum number of moles of  that can be formed is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

BaCl2 Na3PO4

Ba3(PO4)2

0.7

0.5

0.3

0.1

https://dl.doubtnut.com/l/_v46m0a0ChZUz
https://dl.doubtnut.com/l/_cd6PM6OstuNc


18. If  molecules are removed from 200 mg of , then

maximum number of moles of  that can be formed is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1021 CO2

Ba3(PO4)2

2.88 × 10− 3

1.66 × 10− 3

4.54 × 10− 3

1.66 × 10− 2

19. The equivalent mass of  is half its molecular mass

when it is converted to

A. 

MnSO4

Mn2O3

https://dl.doubtnut.com/l/_kWnrnFJDsmRA
https://dl.doubtnut.com/l/_1nIlvhqbthDK


B. 

C. 

D. 

Answer: B

Watch Video Solution

MnO2

MnO4

MnO
2 −
4

20. The number of gram molecules of oxygen in  CO

molecules is/are

A. 10 g-molecule

B. 5 g- molecule

C. 1 g- molecule

D. 0.5 g-molecule

6.02 × 1024

https://dl.doubtnut.com/l/_1nIlvhqbthDK
https://dl.doubtnut.com/l/_xM9DoGY2kdWj


Answer: B

Watch Video Solution

21. The weight of  molecules of  is

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

1 × 1022 CuSO4.5H2O

41.59g

415.9g

4.159g

22. The law of multiple proportion was proposed by

https://dl.doubtnut.com/l/_xM9DoGY2kdWj
https://dl.doubtnut.com/l/_hzHYH2AyzSyf
https://dl.doubtnut.com/l/_EiJ0tEIoZyZJ


A. Lavoisier

B. Dalton

C. Proust

D. Gay Lussac

Answer: D

Watch Video Solution

23. 1.12 ml of a gas is produced at STP by the action of 4.12 mg of

alcohole, with methyl magnesium iodide. The molecular mass of

alcohol is

A. 

B. 

C. 

16.0

41.2

82.4

https://dl.doubtnut.com/l/_EiJ0tEIoZyZJ
https://dl.doubtnut.com/l/_SJWYLw3lGoQX


D. 

Answer: C

Watch Video Solution

156.0

24. Rearrange the following (I to IV) in the order of increasin

masses and choose the correct answer from (A), (B), (C) and (D) 

(At. Mass N=14, O=16, Cu=63) 

(I) 1 molecule of O 

(II) 1 atom of nitrogen 

(III) g molecular mass of oxygen 

(IV)  atomic mass of copper.

A. II lt I lt III lt IV

B. IV lt III lt II lt I

C. II lt III lt I lt IV

1 × 10− 10

1 × 10− 7

https://dl.doubtnut.com/l/_SJWYLw3lGoQX
https://dl.doubtnut.com/l/_y1LhsDp8p7lQ


D. III lt IV lt I lt II

Answer: A

Watch Video Solution

25. Assume that the nucleus of the fluorine atom is a sphere of

radius cm. What is the density of matter in the nucleus?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5 × 10− 3

6.02 × 1023g/mL

6.02 × 1013g/mL

12.02 × 1023g/mL

12.02 × 1013g/mL

https://dl.doubtnut.com/l/_y1LhsDp8p7lQ
https://dl.doubtnut.com/l/_zAIyVIfhnutQ


26. The simplest formula of a compound containing 50% of an

element  (atomic weight 10) and 50% of element  (atomic

weight 20) is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

X Y

XY

X2Y

XY3

X2Y3

27. One mole of calciium phosphide on reaction with excess water

gives

https://dl.doubtnut.com/l/_ViGcUJWiBCb8
https://dl.doubtnut.com/l/_zHYCKPL1gThr


A. One mole of phosphin e

B. Two moles of phosphoric acid

C. Two moles of phosphine

D. One mole of phosphorus pentaoxide

Answer: C

Watch Video Solution

28. An aqueous solution of  oxalic acid dihydrate is made up

to . The volume of  required to completely

neutralise  of this solution is

A. 40 mL

B. 20 mL

C. 10 mL

6.3g

250mL 0.1NNaOH

10mL

https://dl.doubtnut.com/l/_zHYCKPL1gThr
https://dl.doubtnut.com/l/_rNuSpfsw0cbp


D. 4 mL

Answer: A

Watch Video Solution

29. How many moles of electrons weigh one kilogram?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

6.022 × 1023

× 10311

9.108

× 10546.023

9.108

× 1081

9.108 × 6.022

https://dl.doubtnut.com/l/_rNuSpfsw0cbp
https://dl.doubtnut.com/l/_PfV8xa4pXi9l
https://dl.doubtnut.com/l/_vlRAMrDOarEr


30. Which has maximum number of atom ?

A. 24 g of C (12)

B. 56 g of Fe (56)

C. 27 g of Al (27)

D. 108 g of Ag (108)

Answer: A

Watch Video Solution

31. What volume of oxygen gas  measured at  and 1 atm

is needed to burn completely  of propane gas 

measured under the same condition?

A. 6L

B. 5L

(O2) 0∘C

1L (C3H8)

https://dl.doubtnut.com/l/_vlRAMrDOarEr
https://dl.doubtnut.com/l/_8MW0kkaRYXU3


C. 10L

D. 7L

Answer: B

Watch Video Solution

32. How many moles of lead (II) chloride will be formed from a

reaction between 6.5 g of PbO and 3.2 g of HCl?

A. 

B. 

C. 

D. 

Answer: C

0.333

0.011

0.029

0.044

https://dl.doubtnut.com/l/_8MW0kkaRYXU3
https://dl.doubtnut.com/l/_qrBgAxvaBJAc


Watch Video Solution

33. With increase of temperature, which of these changes?

A. Molality

B. Weight fraction of solute

C. Fraction of solute present in 1L of water

D. Mole fraction

Answer: C

Watch Video Solution

34. One mole of magnesiu nitride on reaction with an excess of

water gives

A. two moles of ammonia

https://dl.doubtnut.com/l/_qrBgAxvaBJAc
https://dl.doubtnut.com/l/_PDCiy3oydIJk
https://dl.doubtnut.com/l/_aefhIUpiP7Xp


B. one mole of nitric acid

C. one mole of ammonia

D. two moles of nitric acid

Answer: A

Watch Video Solution

35. How many moles of magnesium phosphate, 

will contain 0.25 mole of oxygen atoms?

A. 

B. 

C. 

D. 

Mg3(PO4 _ (2)

1.25 × 10− 2

2.5 × 10− 2

0.02

3.125 × 10− 2

https://dl.doubtnut.com/l/_aefhIUpiP7Xp
https://dl.doubtnut.com/l/_UOhUXkEfP711


Answer: D

Watch Video Solution

36. The number of moles of  that will be needed to react

with one mole of sulphite ion in acidic solution is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KMnO4

4/5

2/5

1

3/5

https://dl.doubtnut.com/l/_UOhUXkEfP711
https://dl.doubtnut.com/l/_kqNEgUaM9ePC


37. Volume occupied by one molecule of water (density = 1 g )

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cm3

3.0 × 10− 23cm3

5.5 × 10− 23cm3

9.0 × 10− 23cm3

6.023 × 10− 23cm3

38. The density (in g ) of a 3.60 M sulphuric acid solution

that is 29% of acid by mass is

A. 

B. 

mL− 1

1.45

1.64

https://dl.doubtnut.com/l/_rzT9fP7pAlAQ
https://dl.doubtnut.com/l/_PsrDiaDazvch


C. 

D. 

Answer: D

Watch Video Solution

1.88

1.22

39. An element X has the following isotopic composition

 . The Weighed average

atomic mass of naturally occurring element X is closet to

A. 199 a.m.u.

B. 200 a.m.u.

C. 201 a.m.u.

D. 202 a.m.u.

.200 X : 90 % , .199 X : 8.0 % , .202 X : 2 %

https://dl.doubtnut.com/l/_PsrDiaDazvch
https://dl.doubtnut.com/l/_GpxmGc1DHAGO


Answer: B

Watch Video Solution

40. In the reaction 

A. 11.2 L of  (g) at S.T.P. is product for every mole of HCl (aq)

consumed

B. 6 L HCl is consumed for every 3 L  (g) produced

C. 33.6 L  (g) is produced regardless of temperature and

pressure for every mole of Al that reacts

D. 67.2 L  (g) at S.T.P. is produced for every mole of Al that

reacts

Answer: A

Watch Video Solution

2Al(s) + 6HCl(aq) → 6Cl− (aq) + 3H2

H2

H2

H2

H2

https://dl.doubtnut.com/l/_GpxmGc1DHAGO
https://dl.doubtnut.com/l/_HeWRHLUwNasL


Watch Video Solution

41. An organic compound contains carbon, hydrogen and oxygen.

Its chemical analysis gave C, 38.71% and H, 9.67%. The empirical

formula of compound would be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3O

CH2O

CHO2

CHO

https://dl.doubtnut.com/l/_HeWRHLUwNasL
https://dl.doubtnut.com/l/_1HShdOriq0zu


Linked Comprehension Type Mcqs

42. 10 g of hydrogen and 64 g of oxygen were filled in a steel

vessel and exploded. Amount of water produced in this reaction

will be

A. 1 mol

B. 2mol

C. 3 mol

D. 4 mol

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_DKCMYuguhMzn


1. Chemical reaction involve interaction of atoms and molecules.

A large number of atoms/molecules (approximately 

)are present in a few grams of any chemical compound varying

with their atomic/molrcular mass. To handle such a large

numbers conveniently, the mole concept was introduced. This

concept has implications in diverse areas such as analytical in

diverse areas such as analytical chemistry, biochemistry,

electrochemistry and radiochemistry. The following example

illustrates a typical case, involving chemical/ electrochemical

reaction, which requires a clear understanding of the mole

concept. 

A 4.0 molar aqueous solution of NaCl is prepared and 500 mL of

this solution is electrolysed. This leads to the evolution of

chlorine gas at one of teh electrodes (atomic mass: Na=23,

Hg=200, 1F=96500 coulombs) 

The total number of moles of chlorine gas evolved is

6.022 × 1023

https://dl.doubtnut.com/l/_PIWSaermRsP3


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0.5

1.0

2.0

3.0

2. Chemical reaction involve interaction of atoms and molecules.

A large number of atoms/molecules (approximately 

)are present in a few grams of any chemical compound varying

with their atomic/molrcular mass. To handle such a large

numbers conveniently, the mole concept was introduced. This

concept has implications in diverse areas such as analytical in

diverse areas such as analytical chemistry, biochemistry,

6.022 × 1023

https://dl.doubtnut.com/l/_PIWSaermRsP3
https://dl.doubtnut.com/l/_17uGqFXTWT1I


electrochemistry and radiochemistry. The following example

illustrates a typical case, involving chemical/ electrochemical

reaction, which requires a clear understanding of the mole

concept. 

A 4.0 molar aqueous solution of NaCl is prepared and 500 mL of

this solution is electrolysed. This leads to the evolution of

chlorine gas at one of teh electrodes (atomic mass: Na=23,

Hg=200, 1F=96500 coulombs) 

If cathode is a Hg electrode, the maximum weight(g) of amalgam

formed from the solution is

A. 

B. 

C. 

D. 

Answer: D

200

225

400

446

https://dl.doubtnut.com/l/_17uGqFXTWT1I


Watch Video Solution

3. Chemical reaction involve interaction of atoms and molecules.

A large number of atoms/molecules (approximately 

)are present in a few grams of any chemical compound varying

with their atomic/molrcular mass. To handle such a large

numbers conveniently, the mole concept was introduced. This

concept has implications in diverse areas such as analytical in

diverse areas such as analytical chemistry, biochemistry,

electrochemistry and radiochemistry. The following example

illustrates a typical case, involving chemical/ electrochemical

reaction, which requires a clear understanding of the mole

concept. 

A 4.0 molar aqueous solution of NaCl is prepared and 500 mL of

this solution is electrolysed. This leads to the evolution of

chlorine gas at one of teh electrodes (atomic mass: Na=23,

6.022 × 1023

https://dl.doubtnut.com/l/_17uGqFXTWT1I
https://dl.doubtnut.com/l/_TBkmEtl9DMK3


Hg=200, 1F=96500 coulombs) 

The total charge in couloms required to complete the electrolysis

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

24125

48250

96500

19300

4. Atoms and molecules are so small in size that it is neither

possible to count them individually nor possible to determine

their mass. These are counted collectively in terms of Avogadro's

number. The mass of Avogadro's number of atoms and molecules

of a substance is known as gram atomic mass and gram

https://dl.doubtnut.com/l/_TBkmEtl9DMK3
https://dl.doubtnut.com/l/_8ga46z0vdGcd


molecular mass respectively. The volume occupied by Avogadro's

number of molecules of a gas or vapour, is known as molar

volume. 

If  is Avogadro's number, the number of valence electrons in

4.2 g of nitride ions  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NA

(N 3 − )

4.2NA

2.4NA

1.6NA

3.2NA

5. Atoms and molecules are so small in size that it is neither

possible to count them individually nor possible to determine

https://dl.doubtnut.com/l/_8ga46z0vdGcd
https://dl.doubtnut.com/l/_bc09qMh77nle


their mass. These are counted collectively in terms of Avogadro's

number. The mass of Avogadro's number of atoms and molecules

of a substance is known as gram atomic mass and gram

molecular mass respectively. The volume occupied by Avogadro's

number of molecules of a gas or vapour, is known as molar

volume. 

The vapour density of a gas is 11.2. The volume occupied by 11.2 g

of a gas at N.T.P. will be

A. 22.4 L

B. 11.2 L

C. 1 L

D. 44.8 L

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bc09qMh77nle
https://dl.doubtnut.com/l/_hPPCExbNKxL8


6. Atoms and molecules are so small in size that it is neither

possible to count them individually nor possible to determine

their mass. These are counted collectively in terms of Avogadro's

number. The mass of Avogadro's number of atoms and molecules

of a substance is known as gram atomic mass and gram

molecular mass respectively. The volume occupied by Avogadro's

number of molecules of a gas or vapour, is known as molar

volume. 

The number of molecules in 16 g of methane is

A. 

B. 

C. 

D. 

Answer: C

3.0 × 1023

× 102316

6.022

6.022 × 1023

× 102316

3.0

https://dl.doubtnut.com/l/_hPPCExbNKxL8


Watch Video Solution

7. Atoms and molecules are so small in size that it is neither

possible to count them individually nor possible to determine

their mass. These are counted collectively in terms of Avogadro's

number. The mass of Avogadro's number of atoms and molecules

of a substance is known as gram atomic mass and gram

molecular mass respectively. The volume occupied by Avogadro's

number of molecules of a gas or vapour, is known as molar

volume. 

If  molecules are removed from 98 mg of , then

the number of moles of  left wlil be

A. 

B. 

C. 

3.01 × 1030 H2SO4

H2SO4

0.1 × 10− 3

1.66 × 10− 3

9.95 × 10− 2

https://dl.doubtnut.com/l/_hPPCExbNKxL8
https://dl.doubtnut.com/l/_1Cu51wMGpHcS


D. 

Answer: D

Watch Video Solution

0.5 × 10− 3

8. Earlier the concept of equivalent weight was very common and

the concentrations of the solutions were expressed in terms of

normolities. The convenience was that the substances reacted in

the ratio of their gram equivalents. So there was no need for

writing the balanced equations to determine the amounts of the

substances reacted. However, determination of equivalent

weights posed difficulty in certain cases. Moreover, the equivalent

weight of the same substance is not same in different reactions.

For example,  has different equivalent weight in the

basic medium than in teh acidic medium. Hence, now-a-days, mole

concept is more common and the concentrations of the

KMnO4

https://dl.doubtnut.com/l/_1Cu51wMGpHcS
https://dl.doubtnut.com/l/_Aw5CQHYq1TCp


solutions are generally expressed in terms of molarities, though

some other methods like molality, molarity, mole fractions etc.

are also used 

The equivalent mass of Cu

A. will be the same in CuO and 

B. will be double in  than in 

C. will be double in  than in 

D. depends on whether copper is pure or impure

Answer: B

Watch Video Solution

Cu2O

Cu2O CuO

CuO Cu2O

9. Earlier the concept of equivalent weight was very common and

the concentrations of the solutions were expressed in terms of

normolities. The convenience was that the substances reacted in

https://dl.doubtnut.com/l/_Aw5CQHYq1TCp
https://dl.doubtnut.com/l/_Mbfp5hCjcFB5


the ratio of their gram equivalents. So there was no need for

writing the balanced equations to determine the amounts of the

substances reacted. However, determination of equivalent

weights posed difficulty in certain cases. Moreover, the equivalent

weight of the same substance is not same in different reactions.

For example,  has different equivalent weight in the

basic medium than in teh acidic medium. Hence, now-a-days, mole

concept is more common and the concentrations of the

solutions are generally expressed in terms of molarities, though

some other methods like molality, molarity, mole fractions etc.

are also used 

The chloride of an element is found to contain 52.8% chlorine.

The equivalent mass of the element is

A. 

B. 

C. 

KMnO4

63.4

31.7

47.2

https://dl.doubtnut.com/l/_Mbfp5hCjcFB5


D. 

Answer: B

Watch Video Solution

18.7

10. Earlier the concept of equivalent weight was very common

and the concentrations of the solutions were expressed in terms

of normolities. The convenience was that the substances reacted

in the ratio of their gram equivalents. So there was no need for

writing the balanced equations to determine the amounts of the

substances reacted. However, determination of equivalent

weights posed difficulty in certain cases. Moreover, the equivalent

weight of the same substance is not same in different reactions.

For example,  has different equivalent weight in the

basic medium than in teh acidic medium. Hence, now-a-days, mole

concept is more common and the concentrations of the

KMnO4

https://dl.doubtnut.com/l/_Mbfp5hCjcFB5
https://dl.doubtnut.com/l/_zm2SNwU7Tgj6


solutions are generally expressed in terms of molarities, though

some other methods like molality, molarity, mole fractions etc.

are also used 

A 40% hydrochloric acid is found to have a density of 1.20 g

. The molarity of the solution is nearly

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

mL− 1

11M

12M

13M

14M

11. Earlier the concept of equivalent weight was very common and

the concentrations of the solutions were expressed in terms of

https://dl.doubtnut.com/l/_zm2SNwU7Tgj6
https://dl.doubtnut.com/l/_TOAuQgDcpUmv


normolities. The convenience was that the substances reacted in

the ratio of their gram equivalents. So there was no need for

writing the balanced equations to determine the amounts of the

substances reacted. However, determination of equivalent

weights posed difficulty in certain cases. Moreover, the equivalent

weight of the same substance is not same in different reactions.

For example,  has different equivalent weight in the

basic medium than in teh acidic medium. Hence, now-a-days, mole

concept is more common and the concentrations of the

solutions are generally expressed in terms of molarities, though

some other methods like molality, molarity, mole fractions etc.

are also used 

The molality of the above solution will be nearly

A. 

B. 

C. 

KMnO4

15.3m

16.3m

17.3m

https://dl.doubtnut.com/l/_TOAuQgDcpUmv


D. 

Answer: D

Watch Video Solution

18.3m

12. Earlier the concept of equivalent weight was very common

and the concentrations of the solutions were expressed in terms

of normolities. The convenience was that the substances reacted

in the ratio of their gram equivalents. So there was no need for

writing the balanced equations to determine the amounts of the

substances reacted. However, determination of equivalent

weights posed difficulty in certain cases. Moreover, the equivalent

weight of the same substance is not same in different reactions.

For example,  has different equivalent weight in the

basic medium than in teh acidic medium. Hence, now-a-days, mole

concept is more common and the concentrations of the

KMnO4

https://dl.doubtnut.com/l/_TOAuQgDcpUmv
https://dl.doubtnut.com/l/_wjTn0Th37ZI1


Matrix Match Type Mcqs

solutions are generally expressed in terms of molarities, though

some other methods like molality, molarity, mole fractions etc.

are also used 

The mole fraction of hydrochloric acid in the solution will be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.25

0.30

0.35

0.40

https://dl.doubtnut.com/l/_wjTn0Th37ZI1


1. Here each question contains statements given in two columns

which have to be matched. Statements in Column I are labelled as

A,B,C and D. Whereas statements in column II are labelled as p,q,r

and s. The answers to these questions have to be appropriately

bublled as illustrated in the following example. 

If the correct matches are A-p, A-s, B-q, B-r, C-p, C-q and D-p, then

the correctly bubbled  matrix should look like the following. 
4 × 4

https://dl.doubtnut.com/l/_zqpbProCDRYH


 


Watch Video Solution

Column I Column II

A 0.1mol p 4480 mL of CO2  at S.T.P.

B 0.2mol q 0.1g  atom of iron

C 0.25mol r 1.5 × 1023  molecules of oxygen gas

D 0.5mol s 9mL  of water

2. Here each question contains statements given in two columns

which have to be matched. Statements in Column I are labelled as

https://dl.doubtnut.com/l/_zqpbProCDRYH
https://dl.doubtnut.com/l/_QsNr0KkOlcgd


A,B,C and D. Whereas statements in column II are labelled as p,q,r

and s. The answers to these questions have to be appropriately

bublled as illustrated in the following example. 

If the correct matches are A-p, A-s, B-q, B-r, C-p, C-q and D-p, then

the correctly bubbled  matrix should look like the following. 


 


4 × 4

Column I Column II

(A) Atomic mass in grams p Mole

(B) Grams molar mass q Grams atoms

(C) Avogadro's number r Molecular mass in grams

(D) 22.4 litres of any gas at NTP s 6.022 × 1023

https://dl.doubtnut.com/l/_QsNr0KkOlcgd


Integer Type Questions

Watch Video Solution

1. The answer to each of the following questions is a single digit

integer, ranging from 0 to 9. If correct answers to the question

number A,B,C and D (say) are 4,0,9 and 2 respectively, then correct

darkening of bubbles should be as shown on the side. 

(A) Silver (atomic weight = 108 g ) has a density of 10.5 g 

. The number of silver atoms on a surface are of 

can be expressed in scientific notation as . The value x is

...........

Watch Video Solution

mol− 1

cm− 3 10− 12m2

y × 10x

https://dl.doubtnut.com/l/_QsNr0KkOlcgd
https://dl.doubtnut.com/l/_N3TQdBAomjmS


2. The answer to each of the following questions is a single digit

integer, ranging from 0 to 9. If correct answers to the question

number A,B,C and D (say) are 4,0,9 and 2 respectively, then correct

darkening of bubbles should be as shown on the side. 

(B) A student performs a titration with different buretters and

finds titre values of 25.2 mL, 25.25 mL and 25.0 mL. The number of

significant figures in the average titre value is ........

Watch Video Solution

3. The answer to each of the following questions is a single digit

integer, ranging from 0 to 9. If correct answers to the question

number A,B,C and D (say) are 4,0,9 and 2 respectively, then correct

darkening of bubbles should be as shown on the side. 

(C) Reaction of  with  in aqueous solution gives

sodium bromide and sodium bromate with evolution of  gas.

Br2 Na2CO3

CO2

https://dl.doubtnut.com/l/_jUR73zxKbLD3
https://dl.doubtnut.com/l/_q3OSEnDCz3pt


Reason Assertion Type Mcqs

The number of sodium bromide molecules involved in the

balanced chemical equation is .....................

Watch Video Solution

4. The answer to each of the following questions is a single digit

integer, ranging from 0 to 9. If correct answers to the question

number A,B,C and D (say) are 4,0,9 and 2 respectively, then correct

darkening of bubbles should be as shown on the side. 

(D) 29.2 (w/w) HCl stock solution has a density of 1.25 g .

The molecular weight of HCl is 36.5 g . The volume (mL) of

stock solution required to prepare a 200 mL solution of 0.4 M HCl

is ..........................

Watch Video Solution

mL− 1

mol− 1

https://dl.doubtnut.com/l/_q3OSEnDCz3pt
https://dl.doubtnut.com/l/_hJE3glCFYV10


1. In each of the following two questions two statements are

given one labelled as the Assertion(A) or Statement I and the

other labelled as the reason (R) or statement II. Examine these

statements carefully and mark the correct choice as per following

instructions 

Assertion (A) - Both 12 g of carbon and 27 g of aluminium will

have  atoms 


Reason (R) - Gram atomic mass of an element contains Avogadro

number of atoms

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not a correct explanation of

A

C. A is true but R is false

D. A is false but R is true

6.12 × 1023

https://dl.doubtnut.com/l/_4lOhecqgb8fo


Answer: A

Watch Video Solution

2. In each of the following two questions two statements are

given one labelled as the Assertion(A) or Statement I and the

other labelled as the reason (R) or statement II. Examine these

statements carefully and mark the correct choice as per following

instructions 

Assertion (A) - The atomic mass of an element is not only relative

but is average relative mass of an atom 

Reason (R) - The average word is essential because the element,

in general, is a mixture of different isotopes and atomic mass is

the average of these relative atomic mass.

A. Both A and R are true and R is the correct explanation of A

https://dl.doubtnut.com/l/_4lOhecqgb8fo
https://dl.doubtnut.com/l/_6STGC91XVgOK


B. Both A and R are true but R is not a correct explanation of

A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

3. In each of the following two questions two statements are

given one labelled as the Assertion(A) or Statement I and the

other labelled as the reason (R) or statement II. Examine these

statements carefully and mark the correct choice as per following

instructions 

Assertion (A) - Pure water obtained from different sources, such

as river, well, spring, sea etc. always contains hydrogen and

https://dl.doubtnut.com/l/_6STGC91XVgOK
https://dl.doubtnut.com/l/_Tz0WojeQ5RYi


oxygen in ratio of 1:8 by mass 

Reason (R) - Mass of reactants and products during chemical or

physical changes is always constant

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not a correct explanation of

A

C. A is true but R is false

D. A is false but R is true

Answer: B

Watch Video Solution

4. In each of the following two questions two statements are

given one labelled as the Assertion(A) or Statement I and the

https://dl.doubtnut.com/l/_Tz0WojeQ5RYi
https://dl.doubtnut.com/l/_wKuD0momwDp2


other labelled as the reason (R) or statement II. Examine these

statements carefully and mark the correct choice as per following

instructions 

Assertion (A) - In a gaseous reaction, the ratio by volumes of

reactant and gaseous products is in agreement with their molar

ratio 

Reason (R) - Volume of gas is inversely proportional to its number

of moles at particular temperature and pressure.

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not a correct explanation of

A

C. A is true but R is false

D. A is false but R is true

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_wKuD0momwDp2


5. In each of the following two questions two statements are

given one labelled as the Assertion(A) or Statement I and the

other labelled as the reason (R) or statement II. Examine these

statements carefully and mark the correct choice as per following

instructions 

Assertion (A) - The standard unit for expressing the mass of an

atom is a.m.u. 

Reason (R) - a.m.u. is also called avogram

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not a correct explanation of

A

C. A is true but R is false

D. A is false but R is true

https://dl.doubtnut.com/l/_wKuD0momwDp2
https://dl.doubtnut.com/l/_zBSGihCbLbTK


Answer: B

Watch Video Solution

6. In each of the following two questions two statements are

given one labelled as the Assertion(A) or Statement I and the

other labelled as the reason (R) or statement II. Examine these

statements carefully and mark the correct choice as per following

instructions 

Assertion (A) - Both 106 g of sodium carbonate and 12 g of

graphite have same number of carbon atoms 

Reason (R) - Both 106 g sodium carbonate and 12 g of graphite

contain 1 g-atom of carbon

A. Both A and R are true and R is the correct explanation of A

https://dl.doubtnut.com/l/_zBSGihCbLbTK
https://dl.doubtnut.com/l/_uF2ooHUhyYLh


B. Both A and R are true but R is not a correct explanation of

A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

7. In each of the following two questions two statements are

given one labelled as the Assertion(A) or Statement I and the

other labelled as the reason (R) or statement II. Examine these

statements carefully and mark the correct choice as per following

instructions 

Assertion (A) - One mole of water molecules at  should

occupy the volume of 18 mL 

4∘C

https://dl.doubtnut.com/l/_uF2ooHUhyYLh
https://dl.doubtnut.com/l/_CKFnpRlmfH36


Reason (R) - Water contains  molecules bonded by

intermolecular H-bonds.

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not a correct explanation of

A

C. A is true but R is false

D. A is false but R is true

Answer: B

Watch Video Solution

H2O

8. In each of the following two questions two statements are

given one labelled as the Assertion(A) or Statement I and the

other labelled as the reason (R) or statement II. Examine these

https://dl.doubtnut.com/l/_CKFnpRlmfH36
https://dl.doubtnut.com/l/_YvWmC7kCfy6y


statements carefully and mark the correct choice as per following

instructions 

Assertion (A) - Relative atomic mass of boron is 10.8 

Reason (R) - Boron has two isotopes B-10 and B-11 with

percentage abundance of 19.6% and 80.4% respectively.

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not a correct explanation of

A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_YvWmC7kCfy6y


9. In each of the following two questions two statements are

given one labelled as the Assertion(A) or Statement I and the

other labelled as the reason (R) or statement II. Examine these

statements carefully and mark the correct choice as per following

instructions 

Assertion (A) - Both 32 g of  and 8g of  have same

number of molecules 

Reason (R) - Equal moles of substances have equal number of

molecules

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not a correct explanation of

A

C. A is true but R is false

D. A is false but R is true

SO2 CH4

https://dl.doubtnut.com/l/_osxEvxHe9yeU


Answer: A

Watch Video Solution

10. Assertion : Empirical and molecular formulae of  are

the same 

Reason : Upon heating,  evolves  gas.

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not a correct explanation of

A

C. A is true but R is false

D. A is false but R is true

Answer: C

Watch Video Solution

NaHCO3

NaHCO3 CO2

https://dl.doubtnut.com/l/_osxEvxHe9yeU
https://dl.doubtnut.com/l/_ZR5O0pQL10fj


11. In each of the following two questions two statements are

given one labelled as the Assertion(A) or Statement I and the

other labelled as the reason (R) or statement II. Examine these

statements carefully and mark the correct choice as per following

instructions 

Assertion (A) - In gaseous reactions, the ratio of the volumes of

gaseous reactants and products are in agreement with their

molar ratio. 

Reason (R) - This is accrodance with Avogadro's law.

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not a correct explanation of

A

C. A is true but R is false

D. A is false but R is true

https://dl.doubtnut.com/l/_ZR5O0pQL10fj
https://dl.doubtnut.com/l/_VXOSDMw0wvtZ


Ultimate Preparatory Package

Answer: A

View Text Solution

1. A flask contains  molecules of . To this 

 molecules of  are added. 


The number of molecules in the flask now is

A. 

B. 

C. 

D. None of these

Answer: C

2.0 × 1013 CO2

1.5 × 1014 CO2

3.5 × 1013

3.5 × 1014

1.7 × 1014

https://dl.doubtnut.com/l/_VXOSDMw0wvtZ
https://dl.doubtnut.com/l/_nNO8Yj33GAbR


Watch Video Solution

2. A flask contains  atoms of He. From This 

atoms of He are removed. The flask now contains atoms of He

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

3.0 × 1016 6.6 × 1015

3.6 × 1016

2.3 × 1016

+3.6 × 1015

3. If one mole of rupees is distributed equally amongst all the

poputlation of earth (6 billion), each person will get rupees

https://dl.doubtnut.com/l/_nNO8Yj33GAbR
https://dl.doubtnut.com/l/_Ecegy5SPgWS1
https://dl.doubtnut.com/l/_c7Io92k4setI


(approximately)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1000000

10000000

1020

1014

4. Polyethene can be produced from calcium carbide according to

the following sequence of reactions 

 


 


 

CaC2 + 2H2O → Ca(OH)2 + C2H2

C2H2 + H2

Pd/BaSO4 /S  
−−−−−−−−−→ C2H4

C2H4 → CH2 − CH2
Polythene

n

Ethene

https://dl.doubtnut.com/l/_c7Io92k4setI
https://dl.doubtnut.com/l/_OptJiseiVQ3F


Calculate the mass of polyethene produced from 20 kg of

.

A.  kg

B.  kg

C.  kg

D.  kg

Answer: B

Watch Video Solution

CaCO2

18.25

8.75

8.25

28.25

5. If law of conservation of mass holds good, 2.00 g of 

will react with 3.00 g of  to produce  equal to

A. 

B. 

Na2SO4

BaCl2 BaSO4

5.00g

3.36g

https://dl.doubtnut.com/l/_OptJiseiVQ3F
https://dl.doubtnut.com/l/_60FNrba5TeNE


C. 

D. None of these

Answer: C

Watch Video Solution

3.29g

6. If atomic mass of carbon was set at 100 u, what would be the

value of Avogadro's number ?

A. 

B. 

C. 

D. 

Answer: C

W h Vid S l i

6.02 × 1023

6.02 × 1025

5.01 × 1024

6.02 × 1021

https://dl.doubtnut.com/l/_60FNrba5TeNE
https://dl.doubtnut.com/l/_zUXQhWaDOSHv


Watch Video Solution

7. A borane on analysis was found to contain 88.45% boron. Its

empirical formula is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

B2H6

BH3

B5H6

B5H7

8. A sample of pure compound contains 2.04 g of sodium,

 atoms of carbon and 0.132 mol of oxygen atoms. Its2.65 × 1022

https://dl.doubtnut.com/l/_zUXQhWaDOSHv
https://dl.doubtnut.com/l/_IkcJ9J235euL
https://dl.doubtnut.com/l/_nQcTGmaaSewo


empirical formula is

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

NaCO2

Na2C2O4

Na2CO3

9. A purified cytochrome protein was found to contain 0.376 %

iron. What is the minimum molecular mass of the protein?

A. 

B. 

C. 

14, 800u

1480u

148, 000u

https://dl.doubtnut.com/l/_nQcTGmaaSewo
https://dl.doubtnut.com/l/_0zg1mPsDE8P3


D. 

Answer: A

Watch Video Solution

148u

10. A purified pepsin was subjected to amino acid analysis. The

amino acid present in smallest amount was lysine, 

and the amount of lysine was found to be 0.43 g per 100 g of

protein. The minimum molecular mass of protein is

A. 

B. 

C. 

D. 

Answer: B

C6H14N2O2

3400u

34, 000u

340, 000u

340u

https://dl.doubtnut.com/l/_0zg1mPsDE8P3
https://dl.doubtnut.com/l/_HelqJmvoIpvB


Watch Video Solution

11. A peroxidase enzyme isolated from red blood cells was found

to contain 0.28% selenium. The minimum molecular mass of the

enzyme is (at. Mass of selenium = 78.96 u).

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3.67 × 103

2.7 × 104

2.90 × 107

2.9 × 104

https://dl.doubtnut.com/l/_HelqJmvoIpvB
https://dl.doubtnut.com/l/_XAw8KZ9QD4Nd


12. A sample of hydrolysed potato starch is found to contain

0.086% phosphorus. If each molecule is assumed to contain one

atom of phosphorus, the molecular mass of hydrolysed potato

starch is (at. Mass of phosphorus = 31 u).

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

8.6 × 103

3.6 × 104

8.6 × 104

13. Manganese forms non-stoichiometric oxides having the

gereral formula formula . The value of  for the compoundMnOx x

https://dl.doubtnut.com/l/_LS4brk4J4T7s
https://dl.doubtnut.com/l/_3CL63WPBsTAs


that analyzed  by mass mn :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

64 %

1.958

1.859

1.598

2.859

14. Before 1961, an atomic mass unit scale was used whose basis

was an assignment of the value 16.0000 to . The atomic

mass of  on this old scale is (at. Mass of oxygen on new scale

= 15.9949).

A. 

.16 O

.12 C

12

https://dl.doubtnut.com/l/_3CL63WPBsTAs
https://dl.doubtnut.com/l/_ir6WvWHJGPdh


B. 

C. 

D. 

Answer: C

Watch Video Solution

11.9938

12.0038

12.1138

15. At one time, there was a atomic mass scale on the assignment

of the value 16.0000 to naturally occuring oxygen. The atomic

mass of silver on this scale will be (atomic masses of silver and

oxygen on the present scale are 107.868 and 15.9994 respectively).

A. 

B. 

C. 

108.000

107.872

108.012

https://dl.doubtnut.com/l/_ir6WvWHJGPdh
https://dl.doubtnut.com/l/_Q8HsIR8CP5UY


D. 

Answer: B

Watch Video Solution

107.909

16. A flask contains  atoms of He (At. Mass =4) at S.T.P. (760

mm Hg pressure and 273.15 K). The number of  molecules

(Mol. Mass = 44) present in the same flask under similar

conditions of temperature and pressure are

A. 

B. 

C. 

D. None of these

Answer: C

1020

CO2

2.3 × 1018

2.2 × 1020

1.00 × 1020

https://dl.doubtnut.com/l/_Q8HsIR8CP5UY
https://dl.doubtnut.com/l/_3NVOSqaFaciB


Watch Video Solution

17. Eq. mass of  is

A. 

B. 

C. Eq. mass of A + Eq. mass of B

D. None of these

Answer: C

Watch Video Solution

AxBy

x × Eq. mass of A+y × Eq. mass of B

y × Eq. mass of A+x × Eq. mass of B

18. According to Dulong and Petit's rule, in case of solid elements.

Approximate atomic mass  


In this rule, specific heat is in

=
6.4

specific heat

https://dl.doubtnut.com/l/_3NVOSqaFaciB
https://dl.doubtnut.com/l/_dqJtnlkaGQBW
https://dl.doubtnut.com/l/_yQrrP8etbxOO


A. 

B. 

C. 

D. None of these

Answer: B

View Text Solution

kJkg− 1K − 1

calg− 1K − 1

Jg− 1. ∘ C − 1

19. Out of atomic mass, mass number and atomic number, the

physical quantities which are not fundamental physical constants

is/are

A. Atomic mass

B. Atomic mass and mass number

C. Mass number

https://dl.doubtnut.com/l/_yQrrP8etbxOO
https://dl.doubtnut.com/l/_cIWNiVViXVap


D. Atomic number

Answer: A

Watch Video Solution

20. Law of constant composition doesnot hold good for

A. Exothermic compounds

B. Endothermic compounds

C. Non stoichiometric compounds

D. Stoichiometric compounds

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_cIWNiVViXVap
https://dl.doubtnut.com/l/_NYIuOGpC6Fbu

